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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180545
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 5861808129 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forFafolf@d TeaT &, fCU 910 o c@RT 31 Gehedl & & U
Aehed arfod A&7 RAT ST HahdT| 39 S I Tt

NECESSITY

Options:

1. = NICE
2. = CITY
3. v SEAT
4. = SCENT

Question Number : 1 Question Id : 5861808129 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, one of the option cannot be formed
by the word, given in the question. Find that word.

NECESSITY

Options:

1. = NICE
2.« CITY
3. v SEAT
4.« SCENT



Question Number : 2 Question Id : 5861808130 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the last letter in the following letter series.
XT, VP, WL, UH, VP,

Options:

1. v TZ
2. % NA
3. WX
4. = UB

Question Number : 2 Question Id : 5861808130 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foTeeT 376TT HTell H 3MTAH 38T AT HL|

XT, VP, WL, UH, VP,

Options:

1. v TZ
2. = NA
3. = WX
4. = UB

Question Number : 3 Question Id : 5861808131 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the last letters in the following letter series.
GFE, LK], QPO, VUT, AZY,

Options:

1. = DEF
2. v FED
3. = CDE
4. = EDC



Question Number : 3 Question Id : 5861808131 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

foreeT 378TT S&em # 3fAH 38T AT H

GFE, LKJ, QPO, VUT, AZY,

Options:

1. = DEF
2. v FED
3. = CDE
4. = EDC

Question Number : 4 Question Id : 5861808132 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given options 3 pair of words are similarly related and
one pair is differently related. Find the pair which Is
differently related.

Options:

1. = Captain : Ship

2. v Student : School

3. # President : Country
4. = Chairman : Company

Question Number : 4 Question Id : 5861808132 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

fow a0 Tredt # o=l I 3 SNf2AT AT 9 & gafad &
AT vor AT e &7 @ Efaa &1 39 ST S A KL S
foica ¥ @ O @afad gl

Options:

1. = ShTdlad : STaIa




2. ¢ B Thol

3. = SOl : 2T
4. % 3L : h9al

Question Number : 5 Question Id : 5861808133 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. v Shorts
2. % Shirts
3. = Sweater
4. = Jacket

Question Number : 5 Question Id : 5861808133 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foT a7 [Oeredl A &, did U Toiead diieh 8 AT &

&Tollieh, Ueh Tdehed 3T dlel FT oi@ oTol &1 39 [heT &

el Ry ST ST T 3Tl &1

Options:

1. v ey
2. = &y
3. » T
4, = ke

Question Number : 6 Question Id : 5861808134 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. = TSR
2. » MLK
3. = UTS
4. v CDE

Question Number : 6 Question Id : 5861808134 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feU 90 aOeheur A &, did T ead dileh & AT &l
BTollleh, Ueh Tdehed 3T dlel hT i@ olal &1 39 &hed &

el he ST ST T 3TeldT &1

Options:

1. = TSR
2. = MLK
3. = UTS
4. v CDE

Question Number : 7 Question Id : 5861808135 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third term on the same
basis as the second term is related to the first term.

Iron : Clothes :: Polish : ?

Options:

1. v Shoes
2. % Shine
3. = Black



4, » Wax

Question Number : 7 Question Id : 5861808135 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

30 [dhed &7 TIT F SF d U€ 8 397 TohR O e &
o 9~ & gEU ug Ugel Ug & HEdd g

AT : U 1 Titerel ; ?

Options:

1. v oI
2. » THb
3. % ahlell
4.

Question Number : 8 Question Id : 5861808136 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Select the option that is related to the third term on the same
basis as the second term is related to the first term.

Kangaroo : Joey :: Deer : ?
Options:

1. » Lamb
2. » Colt
3. v Fawn
4. % Cub

Question Number : 8 Question Id : 5861808136 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



30 dhed T I L S AR U & 39T TohR & 97T &
g R & g8 Ug Uge ug & He9d g

FIME ;ST BIor o ?
Options:

1. %« AHAT
2. % gl

3. v &3 =1 d=an

4. = ‘:I'QPTIT:I?

Question Number : 9 Question Id : 5861808137 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third term on the same
basis as the second term is related to the first term.

HYO : IZP :: FVE : ?

Options:

1. « UEV
2. » EUD
3. = DTC
4, v GWE

Question Number : 9 Question Id : 5861808137 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

30 AT T TIT i S W U 8 33 TR @ gEfea &
o/ 9hR & gEU ug Ugel Ug & (AT g

HYO : |IZP = FVE : 7

Options:



1. = UEV
2. = EUD
3. = DTC
4. v GWF

Question Number : 10 Question Id : 5861808138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gfe SUPREMO s UWRTGOQ & &7 H shifed fRar Srar &,
ar HAT o SR8 Sifed foar Sreem?

Options:

1. = SZG
2. = QLS
3. v JCV
4. = |1BU

Question Number : 10 Question Id : 5861808138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If SUPREMO is coded as UWRTGOQ, then how will HAT be
coded as?

Options:

1. = SZG
2. * GZS
3.v]JCV
4. = IBU

Question Number : 11 Question Id : 5861808139 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Here are some words from an artificial language.

'eibpok’ means 'superman’,
nasgib’ means 'watchman'’
"poktif’ means 'supervise’

Which word would mean 'improvise’?

Options:

1. = pokbip
2. = gibsuf
3. = naszuf
4. v tifthur

Question Number : 11 Question Id : 5861808139 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TGT Uk HAA 89 & $eS <reg AU g

'gibpok' ST 3727 § 'superman’,
'nasgib' &T 37T § 'watchman'
'poktif &T 37T & 'supervise'

R ersg T 37T 'improvise' 7

Options:

1. = pokbip
2. % glbsuf
3. # naszuf
4

. v tifhur



Question Number : 12 Question Id : 5861808140 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a code language, 349 means ‘singing is art’, 749 means
‘drawing is art’ and 573 means ‘singing and drawing’. Find
the code for ‘and’.

Options:

1.+5
2. %7
3.3
4. %9

Question Number : 12 Question Id : 5861808140 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TUeh TITedd s HATYT H, 349 =T 3797 & ‘singing is art’, 749
T 3T & ‘drawing is art’ 30T 573 &1 3197 § ‘singing and
drawing’l ‘and’ & folT FIg Tt

Options:
1p. v 5
2. % 7
3. % 3
4, = 9

Question Number : 13 Question Id : 5861808141 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If A $ B means A is father of B, A # B means A is daughter of B
and If A * Bmeans Aisson of B, then whatdoes X $§Y*Z#W
mean?

Options:

1.« Xisson of W
2. » X is father of W



3. v X is son-in-law of W
4, = X is brother of W

Question Number : 13 Question Id : 5861808141 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

G ASBHFHTA BF AT g, A#BFrad A B
ST EAN AT A+ BRIFITABHRGIE ATXSY + Z #
W T &7 3T &7

Options:

1.wx,W$rg-:=r%
2. = X, W & T0ar g
3. v X, W T aIATE &
4.« X, W &7 #E &

Question Number : 14 Question Id : 5861808142 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

V, W, X, Y and 7 are sitting in a row. W is between Z and V. Z
1s neither next to X nor at the end. V 1is to the left of X. Who is
to the right of 27

Options:

1. =V
2. % X
3.vW
4 =Y

Question Number : 14 Question Id : 5861808142 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

VW X, YR Zos dia A 8 &1 W, Z 3t V & a7 &
ZTANXF WA AEINAET AT HEIV, X F a2 3T &
Z % T5 3T Hid &2

Options:



1. =

#
s X <

2.
3. ¢
4. = Y

Question Number : 15 Question Id : 5861808143 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Five candidates arrived for an interview. The time of arrival
of § was the mean of the arrival times of Q and T. P came as
many minutes after Q as T came before R. If § had come 15
minutes earlier he would have arrived with Q. If P arrived
second who arrived third?

Options:

1.+8
2. % Q)
3.+ T
4. = R

Question Number : 15 Question Id : 5861808143 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qi 3FAGIN AT&Tch %%Itfqg?ll S & 3 T T7T Q
I T & MeTAEA &1 3daa g8 o711 P, Q & 3dd Afee 8T
g1 3T [oidet fAfae R @ ugel T 3mam a1 afg S 15 fafae
Ugel 31T BIdT, A 98 Q & Ty 3T giAnl Afd P ogEr 3
g, dI diEaT hiel 3HRT?

Options:

1. v S
2. = Q




3. % T
4. = R

Question Number : 16 Question Id : 5861808144 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rekha and Tanvi are sisters. Vinay is Jhanvi’'s husband and
Tushar’s son. Tushar is Tanvi's sister’s husband. If Rekha has
one sister and two brothers, then how is Jhanvi related to
Tanvi?

Options:

1. = Tanvi is Jhanvi's mother-in-law
2. = Tanvi is Jhanvi's sister's mother-in-law
3. v Tanvi is Jhanvi's mother-in-law’s sister
4. = Tanvl is Jhanvi's mother’s sister

Question Number : 16 Question Id : 5861808144 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

x@r AT Tedr aga &1 e, Sierdr & gfd 3 YR T Ser g
YR dedl T S« T i &1 I 1@ FT Tk FgT AR
#TE &, A Sierdr, dear @ O gefad &7

1. w.aﬁ,mﬁﬁrm%
2. « Jedl, SITelaT & ggel T I &
3. v dedl, SITeTaT T AT ST T5T &

Tl

4. % dodl, SATeTdl =l HI ol Fg@d &

Question Number : 17 Question Id : 5861808145 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If it was 9:27 AM 7, 545 minutes ago, what time is it now?

Options:

1. » 4:42 AM



2. % 3112 AM
3.v 312 PM
4. % 4:42 PM

Question Number : 17 Question Id : 5861808145 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afg 7, 545 fAfae gget gog & 9:27 &or 2, ar 3nf Frdar
ST 57

Options:

1. = 4:42 AM
2. % 3112 AM
3. v 3112 PM
4. = 4:42 PM

Question Number : 18 Question Id : 5861808146 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Read the given statement and conclusions carefully. Assuming
that the information in the statement is true, even if they
appear to be in variance with commonly known facts, select
which of the conclusions logically follow(s) from the
statement beyond reasonable doubt.

Statements:

I. All trucks are cars
I1. All jeeps are trucks
III. No SUVs are cars

Conclusions:
I. No trucks are SUVs
II. No Jeeps are SUVs



Options:

1. = Only Conclusion I follows.

2. * Only Conclusion II follows.

3. v Both I and II follows

4. = Nelther of the conclusion follows.

Question Number : 18 Question Id : 5861808146 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 917 Fherer 3T fashsl i e & 9| I8 a—lldﬁguﬁ?
FUAAT H T 95 SATARNT Gcd § - ol oI d AT AT

d2ay o 1T Ad o T &I, 39 oy &l Ided hd S 3R
HEE & UL 3H YT I dlicheh FT & 3TEIOT FHIAT BT

EXIEE

. Tt ¢F FR Bl

I. T ST ¢ &

Il 1% o7 vEgEr (SUV) SR 18T §

IGLEE
. FE gk TEgdT (SUV) 7@l &I
I. I T ST vEgdr (SUV) wigT ¢

Options:

1. % hdel oISy | 3TTETOT LAl &l

2. « shael folshy || 3eTE0T T |
3. v | AT Il 2kl 37eEor i &
4. » RS & forsahy 37eTETOT &N FIAT B

Question Number : 19 Question Id : 5861808147 Question Type: MCQ Option Shuffling: Yes




Correct Marks: 1 Wrong Marks: 0.25

Read the given statement and conclusions carefully. Assuming
that the information in the statement is true, even if they
appear to be in variance with commonly known facts, select
which of the conclusions logically follow(s) from the
statement beyond reasonable doubt.

Statements:
I. All pigeons are crows.
I1. All parrots are pigeons.

Conclusions:
I. All parrots are crows.
I1. All crows are parrots.

Options:

1. v Only Conclusion I follows.

2. * Only Conclusion II follows.

3. = Neither of the conclusion follows.
4. = Both I and II follows.

Question Number : 19 Question Id : 5861808147 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ﬁmwmﬁwﬁaﬁtmﬁﬁﬁlaﬁm?%
FUAT H 2T IS ATARRT T &, Hol &l I HIT: AT a2l
O Aol F TS al, 39 [achy &7 99 ¢ o 3 ddg O W

3T el hT difeheh &9 T 3EIOT L] arl

hafeT:
. T g FIT g
I TefT AT FeH B

IGLER R
. T O HIT B
Il ey +ig ara &

Options:

1. v hdel oISy | 37eTETOT FLc] Y

2. % had a5y || 3FEIOT I =y
3. = FIg AT ISRy 3TeTEOT o1&l AT &
4. % | 3T 1l gt 3T corps Y

Question Number : 20 Question Id : 5861808148 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. = 285
2. v 275
3. % 255




4. % 225

Question Number : 20 Question Id : 5861808148 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

fow a7 [Oefedl A 4, did U ead dileh 8 AT &

&Tollloh, Ueh Tdhed e dlel T dig olel &l 3T Aeq &

el L ST AT T 37T &1

Options:

1. = 285
2. v 275
3. = 255
4. = 225
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Sub-Section Number: 1
Sub-Section 1d: 586180546
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 5861808149 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given options 3 pair of numbers are similarly related
and one pair is differently related. Find the pair which is
differently related.

Options:

1. = 123 : 369
2. % 238:714
3. % 316 : 948
4. v 234 : 456

Question Number : 21 Question Id : 5861808149 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few ot faeredt & F&AT3M &1 3 SNfSAT v TATT Fefdd &

AT TR SANBT 3ol dileh O 979d &1 39 ST &l ATd e S
369 HE T gErad gl

Options:

1. = 123 : 369
2. % 238 : /14
3. = 316 : 948
4. v 234 : 456

Question Number : 22 Question Id : 5861808150 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that is related to the third number on the
same basis as the second number is related to the first
number.

42 .56 .57 .7
Options:

1. % 52
2.v 76
3. % 67
4 % 81

Question Number : 22 Question Id : 5861808150 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 [Ahed T TIT HL AT AT T&IT H 34T TR & Tdarad
¢ o v @ qEdl e ugell HEAT ¥ FEldd ¢

42 + 56 == 57 7

Options:

1. = 52
2. v 76
3. = 67
4. = 81

Question Number : 23 Question Id : 5861808151 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that is related to the third number on the
same basis as the second number is related to the first
number.

222 .74 3337
Options:

1.+ 111
2. % 94
3. = 64
4. = 101

Question Number : 23 Question Id : 5861808151 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 [Ahed T TIT HL AT AT T&IT H 34T TR & Tdarad
¢ o v @ qEdl e ugell HEAT ¥ FEldd ¢

222 74 ¢ 333 7

Options:

1. ¢ 111
2. = 94
3. = 64
4. = 107

Question Number : 24 Question Id : 5861808152 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In a certain code language, '+’ represents -, -’ represents 'x’,
"%’ represents '+’ and '+’ represents '+'. Find out the answer to
the following question.

240 ~60x15+30-5=7
Options:

1.+ 94
2. % 85
3. 74
4 =41

Question Number : 24 Question Id : 5861808152 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v fafead ®s s A, '+, 2 F wfafafdea s & - ¢
HT FidfAfded HTar §; ', '+ FT AAfAfeq FTar § 4
'+ w7 wfafafdaa Fwar &1 Feafef@a wea &1 3cav 7T F

240 + 60 x 15+ 30 -5 =7

Options:

1. v 94
2. = 85
3. % 74
4. » 41

Question Number : 25 Question Id : 5861808153 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T =T FATRIOT Il g1 TEU 91T FHRIUT I TET hlad
forw Tohet @ RIegl o TWEW ol ANgu?

10 + 3-8 %x 2 =26

Options:
1. v + 3T x
>« + 3T -
3. = x 3T +
4. = + 3T +

Question Number : 25 Question Id : 5861808153 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The given equation is incorrect. Which two signs should be
interchanged to correct the given equation?

10 +-3-8x2=206

Options:
1. v+ and x
2. % +and -
3. = xand +
4, % +and +

Question Number : 26 Question Id : 5861808154 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing number in the following number series.

8,71,62,7,44, 3.5
Options:

1.+5.3
2. % 5.2



3. 54
4. % 3.5

Question Number : 26 Question Id : 5861808154 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IGESIGIECGEEES] %Hs-lon pa GA TEIT AT H|

8, 7.1, 6.2, 7, 44, 3.5

Options:

1. v 5.3
2. = 5.2
3. = 5.4
4. = 5.5

Question Number : 27 Question Id : 5861808155 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing number in the following number series.

7,2,4.2,2.8,14,0
Options:

1.+56
2. % 5.8
3. % 6.2
4 % 64

Question Number : 27 Question Id : 5861808155 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

eToTad a&ar g&er A oI TEIT AT H|

7,7, 42, 28,14, 0



Options:

1. v 5.6
2. = 5.8
3. = 6.2
4. = 6.4

Question Number : 28 Question Id : 5861808156 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If 6@36=2, 4@64-=3, 3@81=4, then find 3@243= "7

Options:

1.+ 5
2.% 3
3.5 4
4. %6

Question Number : 28 Question Id : 5861808156 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR 6@36=2, 4@64=3, 3@81=4, ar 3@243="

Options:

1. v 5
2. % 3
3. = 4
4. = 6

Question Number : 29 Question Id : 5861808157 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The weights of 4 boxes are 5, 2.5, 1.5, and 7 kilograms. Which
of the following cannot be the total weight, in kilograms, of
any combination of these boxes?

Options:

1. = 16



2. % 14.5
3. % 13.5
4. v 15

Question Number : 29 Question Id : 5861808157 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4 T8saT T gofal 5, 2.5,1.5, 3 7 TohellaTdH &1 1 Ssal &
IGESIGECG IR IRE Tl IR S ch|%?:|mfr?m ToTdl
FleT T Aol 8l Thal &7

Options:

1. = 16
2. % 14.5
3. = 13.5
4. v 15

Question Number : 30 Question Id : 5861808158 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

In the following figure, circle represents pilots, triangle
represents dancers, square represents women and rectangle
represents Americans. Which set of letters represent women
who are either pilots or dancers?

Options:

1. = BCFG
2.v BC
3. = ABCD



4. = CHI

Question Number : 30 Question Id : 5861808158 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATATeT I 3T H oo TrIelel T Aldfelided siar &,
BT adfeat o1 ufafetacg =ar &, geF ARt &
giafeitecg Far & 3T 3maa ARRAT 1 gfaftacg #ar g
3ERT T il TT A 3 AR F iafa&eg HIar & = av
Y URIelc & IT dAdehl 87

e
),
AN\_ T
f\ni

Options:

1. = BCFG
2. v BC
3. = ABCD
4. = CHI

Question Number : 31 Question Id : 5861808159 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following Venn diagrams best represents the
relationship between cats, animals and pets?

Options:



Question Number : 31 Question Id : 5861808159 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 32 Question Id : 5861808160 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If North becomes West, then what will North-East become?

Options:

1. v North-West
2. » South -East
3. = North
4. = South

Question Number : 32 Question Id : 5861808160 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3R Sca-UTeTA &1 SIIVEl, Al Sco-qd T Faiar?

Options:

1. v 3cal-ureaH
2. = Ao
3. * 3

4. = Zf&oT

Question Number : 33 Question Id : 5861808161 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Which of the following cubes in the answer figure CANNOT
be made based on the unfolded cube in the question figure?

‘X;ﬁ.D

Options:

Question Number : 33 Question Id : 5861808161 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 34 Question Id : 5861808162 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

KOO
000
KOO

Question Number : 34 Question Id : 5861808162 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 35 Question Id : 5861808163 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

which of the following answer figure completes the series of
the question figure?
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Question Number : 35 Question Id : 5861808163 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 36 Question Id : 5861808164 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which answer figure will complete the pattern in the
question figure?

A
N

Options:
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Question Number : 36 Question Id : 5861808164 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Slel &I el TRl wosl & Yol I [T FEAT?

A
S

Options:




Question Number : 37 Question Id : 5861808165 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find out from amongst the four alternatives as to how the
pattern would appear when the transparent sheet is folded at
the dotted line?
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Question Number : 37 Question Id : 5861808165 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 38 Question Id : 5861808166 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If a mirror is placed on the line MN, then which of the answer
figures will be the right mirror image of the given figure?

A O

Options:
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Question Number : 38 Question Id : 5861808166 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 39 Question Id : 5861808167 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A piece of paper is folded and punched as shown below in the
question figures. From the given answer figures, indicate how
it will appear when opened.
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Question Number : 39 Question Id : 5861808167 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25
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Question Number : 40 Question Id : 5861808168 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given answers figures, select the one in which the
question figure is hidden/embedded.

Options:
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Question Number : 40 Question Id : 5861808168 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25
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Group Number :
Group Id:

General Awarenessi

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group?:
Edit Attended Group? :
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Group Marks:

IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :
Section Number :
Section type:
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Question Number : 41 Question Id : 5861808169 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which among the following dance forms is also known as
"The Harvest Dance’ ?

Options:

1. = Bhagoria Dance
2. v Jawara Dance
3. # Suwa Dance

4. = Teratall Dance

Question Number : 41 Question Id : 5861808169 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 42 Question Id : 5861808170 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"Pandavani” is a famous folk song which narrates the heroics
of

Options:

1. v Characters of Mahabharata
2. » Characters of Ramayana

3. = soldiers
4. = Rabindranath Tagore

Question Number : 42 Question Id : 5861808170 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. v AETHRA & U3

2. % AT & 917
3. % Hfolehl
4. = TagardT &

Question Number : 43 Question Id : 5861808171 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following monuments was built by Hamida
Banu Begum?

Options:

1. = Jahaz Mahal
2. » Bada Imambara
3. = Akbar Tomb
4. v Humayun Tomb

Question Number : 43 Question Id : 5861808171 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 44 Question Id : 5861808172 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The third day of Pongal - Mattu Pongal is meant to worship

Options:

1. # birds
2. v cattle
3. % sun

4. = water

Question Number : 44 Question Id : 5861808172 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = T&T
2.«?‘:@

3. = I
4. = Ol

Question Number : 45 Question Id : 5861808173 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Union Budget presented on February 28, 1997 by the

finance minister was termed as "Dream Budget” as a
number of economic reforms were done.
Options:

1. = Morarji Desai

2. v P Chidambaram

3. * RK Shanmukham Chetty
4. = C.D. Deshmukh

Question Number : 45 Question Id : 5861808173 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. » ARSI ATS

2. v Ul ReaHA

3. « 3N &F AAAGH WL
4. « WIE. AT

Question Number : 46 Question Id : 5861808174 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the Minimum Support Price (MSP) of the common
variety of paddy for 2018-197?

Options:

1. = Rs. 1,500 per quintal
2. v Rs. 1,750 per quintal
3. = Rs. 1,900 per quintal
4. = Rs. 1,850 per quintal

Question Number : 46 Question Id : 5861808174 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2018-19 & U ATATT [hEA T T FT geldH AL Hed
(THTEY) T 87

Options:

1. » ®9F 1,500 ufa Face
2. v ¥4 1,750 vi Tefacer
3. = TG 1,900 ufy TeFacer
4. = T 1,850 ufy TeFacer




Question Number : 47 Question Id : 5861808175 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following is the largest public sector bank
according to market capitalisation?

Options:

1. * Punjab National Bank
2. » IDBI Bank

3. = Bank of Baroda

4. v State Bank of India

Question Number : 47 Question Id : 5861808175 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foraifelf&d A @ ST GollehoT & 376[HR Hed ST Aol oish
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Options:

1. = USITd a¢aTel Sk
2. % SSEIE S

3. = &b 3TH FEI]
4. v AAT TC &

Question Number : 48 Question Id : 5861808176 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which state is the” Keoladeo Ghana National Park” situated?

Options:

1. v Rajasthan

2. » Karnataka

3. = Uttar Pradesh
4. = Assam

Question Number : 48 Question Id : 5861808176 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. v TSI EAT
2. ® halldeh
3. * 3cdl vl
4. = ITH

Question Number : 49 Question Id : 5861808177 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the common name of Azadhirachta indica?

Options:

1. v Neem

2. » Tobacco
3. = Mint

4. = Coriander

Question Number : 49 Question Id : 5861808177 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3TSIfeTTaT SfEehT ST TTUROT STH FAT §7

Options:

1. v @dlH
2. % &R
3. % AT

Mo

4. » giadr

Question Number : 50 Question Id : 5861808178 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following enzymes splits nucleic acids into
nucleotides?

Options:

1. ¥ Nucleolytic Enzyme
2. » Amylase Enzyme



3. = Ptyalin Enzyme
4. = Proteolytic Enzyme

Question Number : 50 Question Id : 5861808178 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feTel&T & & FiaT AT Ufhvd (enzymes) ATTHRIT 37Fe I
sg[Feldlcrss H Alsdr &7

Options:

1. v sgFoldIdaeh UASH
%

2. % UHATSelol UollsH

3. * Ucdlgolld USIISH

4. = FIET3TSed TATSA

Question Number : 51 Question Id : 5861808179 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the chemical name of table sugar?

Options:

1. = Hydrochloric Acid
2. v Sucrose

3. » Methyl Alcohol

4. = Silicon Dioxide

Question Number : 51 Question Id : 5861808179 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 52 Question Id : 5861808180 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following chemicals is not used for water
purification?

Options:

1. = Iodine
2. * Qzone
3. = Chlorine
4. v Nitrogen

Question Number : 52 Question Id : 5861808180 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ao Ed # @ ohT T T 39167 o N & olw a8l
o ST &2

Options:

1. = RNTSeT
2. % 3Tallel
3. % Fellel

4. v wECISTd

Question Number : 53 Question Id : 5861808181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does a Pyrheliometer measure?

Options:

1. = Quantity of heat
2. » Low Temperature
3. » Electric power

4. v Solar radiation

Question Number : 53 Question Id : 5861808181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = I shT ATAT

2. » hH dIIHTA
3. % ﬁa‘g?r SIESH
4. v TIT @RToT

Question Number : 54 Question Id : 5861808182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

World Tollet Day is celebrated on

Options:

1. = 18th October

2. = 15th August

3. v 19th November
4, = 12th April

Question Number : 54 Question Id : 5861808182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e ettamer fegg Y AATIT ST &1

Options:

1. % 18 37Rga

2. % 15 39Fq
3. v 19 gy
4. = 12 370l

Question Number : 55 Question Id : 5861808183 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In system part of the storm water especially
collected from roofs and paved courtyards of the buildings is
admitted in the same drain along with sewage from
residences and institutions, etc.

Options:

1. = separate

2. v partially separate
3. » combined
4, = partially combined

Question Number : 55 Question Id : 5861808183 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JuTrell H, 39 &7 & odl 3T 9ael & T
HATAT H UehlAd Wlel T Trall foraral 3T Gemar, 3 &
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Options:

1. = 3feldT
2. v 3Teh ®T & 376190
3. = WYFA
4. = 3AF T T TFA

Question Number : 56 Question Id : 5861808184 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one is the longest tributary of Narmada river?

Options:

1. = Indravati
2. = Betwa

3. » Taptl

4, v Tawa



Question Number : 56 Question Id : 5861808184 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JAHST T hT TaH F§T TgIF dAdl hiad AT 57

Options:

1. = Zgradr
2. % ddar
3. = dTCedr
4. v ddr

Question Number : 57 Question Id : 5861808185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Denmark Strait separates Iceland from

Options:

1. = MeXico

2. v Greenland
3. = Cuba

4. = Baffin island

Question Number : 57 Question Id : 5861808185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SAHATR STaded MSHS &l & 376197 FLAT o

Options:

1. = ATRTeRT
2. v Tladolg
3.« FgaT

4. = dfthel AT

Question Number : 58 Question Id : 5861808186 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following soils 1s commonly described as
ferralitic soils?

Options:



1. = Black soil

2. v Laterite soil
3. = Alkaline soil
4. = Alluvial soils

Question Number : 58 Question Id : 5861808186 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ao @a & @ g 8 & aragiy W wWfes B8 & w9
# aftta orar Srar &7

Options:

1. = ShTell THET

2. v o= Har
3. = T HA
4. = Selig THET

Question Number : 59 Question Id : 5861808187 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many countries are there in Asia?

Options:

1. = 45
2. v 48
3. % 52
4. % 58

Question Number : 59 Question Id : 5861808187 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

iR 7 foraer der &7

1. = 45
2. v 48



3. = 52
4. = 58

Question Number : 60 Question Id : 5861808188 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What among the following is the largest coffee producing
state of India?

Options:

1. = Assam

2. v Karnataka
3. = Gujarat

4. = Tamil Nadu

Question Number : 60 Question Id : 5861808188 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArTTa@g & T i &7 T 9T FT G698 27 FIHT 3cIEh
&7

Options:

1. = 39H
2. v halceh
3. * T
4. = Affer a3

General Awareness?2

Group Number : 4

Group Id: 586180395
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20

IsthisGroup for Examiner?: No



Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareness2

Section Id : 586180399

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 586180548
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5861808189 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following mountains has the highest peak in
USA?

Options:

1. v Denali

2. » Mount Saint Elias
3. * Mount Blackburn
4. = Mount Sanford

Question Number : 61 Question Id : 5861808189 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TIFT Tog TANFT H hT qad $T AT T8 37 87

Options:

1. v 2aTol
2. % HI3¢ dc Ulelg
3. = HI3C Solsheld]

4. = HAT3C TP




Question Number : 62 Question Id : 5861808190 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When did Jallianwala Bagh Massacre take place?

Options:

1. = April 25, 1919
2. » May 20, 1920
3. = April 15, 1920
4. v April 13, 1919

Question Number : 62 Question Id : 5861808190 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STl ITaTelT §T9T EcATRIS shd 3T AT?
P

Options:

1. = 25 379, 1919
2. = 20 HE, 1920

3. = 15 3%, 1920
4. v 13 39, 1919

Question Number : 63 Question Id : 5861808191 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following Vedas is the oldest?

Options:

1. = Atharvaveda
2. = Yajurveda

3. v Rigveda

4. » Samaveda

Question Number : 63 Question Id : 5861808191 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 64 Question Id : 5861808192 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Diwan-i-Wizarat of Delhi Sultanate was the department of

Options:

1. = Military

2. = Religious Affairs

3. » Royal Correspondence
4. v Revenue and Finance

Question Number : 64 Question Id : 5861808192 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feeell Todeld T darel-u-Taerd T XTI T

Options:

1. = @l

2. = UIfH® HATH
3. % QMar TaER

4, v ToTeg 33X Aea

Question Number : 65 Question Id : 5861808193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the founder of the Khalji Dynasty?

Options:

1. v Jalal-al-Din Firuj Khalji
2. = Qutb-al-Din Mubarak Shah




3. # Juna Khan
4. = Malik Kafur

Question Number : 65 Question Id : 5861808193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T=rersil TroTaer T §€2ATIh <hiel 277

Options:

1. v SoTal-3Tel-alad h%el Welail

2. * PHJI-3Hel-GleT FINh ATE

3. % Sl el

4. = HAfelh FTHT

Question Number : 66 Question Id : 5861808194 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When was the first battle of Panipat fought?

Options:

1. = 1535
2. % 1530
3. = 1520
4. v 1526

Question Number : 66 Question Id : 5861808194 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UTaldd kT Ugdll IS HF ST AT AT?

Options:

1. = 1535
2. = 1530
3. = 1520
4. v 1526

Question Number : 67 Question Id : 5861808195 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

When was the Azad Hind Fauj formed?

Options:

1. = 1940
2. % 1945
3. v 1942
4. = 1938

Question Number : 67 Question Id : 5861808195 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3TSTE 88 BiST T 6T e g3 AT

Options:

1. = 1940
2. = 1945
3. v 1942
4, = 1938

Question Number : 68 Question Id : 5861808196 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who received the best actor award in the National Film
Award 20177

Options:

1. » Aamir Khan
2. v Akshay Kumar
3. = Shahrukh Khan
4. = Adil Hussain

Question Number : 68 Question Id : 5861808196 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TSl fhedm qIERR 2017 # TIASS AT T [WERR fRE
oo ar?

Options:




1. = 3MTAT T
2. v 34T FAR

3. = ATEHE HTd
4. = 3TMCe gHe

Question Number : 69 Question Id : 5861808197 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Name the first Indian woman to receive the Doctorate of
Science from an Indian university. She was a noted Indian
chemist, working in the fields of organic chemistry, and
phytomedicine.

Options:

1. v Asima Chatterjee

2. » Kamaladevi Chattopadhyay
3. = Sonia Gandhi

4. » Shashikala Kakodkar

Question Number : 69 Question Id : 5861808197 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ARAT Toealaeamey & Sielc 3% HISH T 3T UIed sl
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Options:

1. v 3TGTAT el
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3. % TTerTT ey
4
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Question Number : 70 Question Id : 5861808198 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

World Bank comprises of five institutions. Which among the
following is one of them?

Options:

1. * World Health Organization

2. = International Chamber of Commerce

3. » International Business Organization

4. v International Bank for Reconstruction and Development
(IBRD)

Question Number : 70 Question Id : 5861808198 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Oeg & ® urg goura aifde & eafei@a & O &ia ar
38 & Udh g7

Options:

1. = Tdeg warezy @964

2. % 3ASCIT Aoy HAUSd

3. * FASET SN HISA

4. v TS Gl AT0T TF Ak S (ST

Question Number : 71 Question Id : 5861808199 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who wrote "Tigers for Dinner"?

Options:

1. » A.P.J.Abdul Kalam
2. » Vikram Seth

3. = David Davidar

4. v Ruskin Bond

Question Number : 71 Question Id : 5861808199 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Options:

1. = QUL 3fsgel FellA
2. « A Ao
3. » 398 30T

4. v UThe U8

Question Number : 72 Question Id : 5861808200 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following did NOT receive the Bharat Ratna
Award in 20197

Options:

1. = Bhupen Hazarika

2. * Nanajl Deshmukh

3. » Pranab Mukherjee

4. v Madan Mohan Malaviya

Question Number : 72 Question Id : 5861808200 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafafad & & fraa 2019 A 9RA Teel [ERR Te o181
erar?

Options:

1. % 3{deT EoITERT
2. = STeToll R
3.wmﬂa\—:ﬁ

4, v A Al HATA

Question Number : 73 Question Id : 5861808201 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which among the following is the highest Literary Honour
Award in the Literature of India?

Options:

1. » Bhasha Samman

2. v Jnanpith Award

3. = Translation Awards

4. = Premchand Fellowship

Question Number : 73 Question Id : 5861808201 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forfef@a # 8 Sl 91 #RAT Oifgcy A gafta gifgicdsh

HFATA ERR &7

Options:

1. = HATNT HEHT

v ATAUIS ILEDPR

2.
3. = 3adre qIFRR
4, = JAUS thollfeg

Question Number : 74 Question Id : 5861808202 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the chairman of the Rules of Procedure Committee
of the Constituent Assembly?

Options:

1. v Rajendra Prasad

2. » Sardar Vallabhbhai Patel
3. » Jawaharlal Nehru

4. = B. R. Ambedkar

Question Number : 74 Question Id : 5861808202 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl FAT hT vihdT FTATT & [TAT & 37eTeT HleT 47



Options:

1. v Jeig 991G

2. » TIgN dedd 95 Ted
3. % SIAIELelel oIg®
4,

% 8T 3. IFESHT

Question Number : 75 Question Id : 5861808203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HATT HIaeTel T AT A I AITCIRIST hT
orfefera, TR 3N TorAeRar enfder ¥l

1. % YT=Iar

2. = Bol
3. = dldr
4. v §R&Ar

Question Number : 75 Question Id : 5861808203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The schedule of the Indian Constitution contains the
powers, authority and responsibilities of Municipalities.

Options:

1. = Fifth
2. » Sixth
3. = Ninth
4. v Twelfth

Question Number : 76 Question Id : 5861808204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the first person to put forward the idea of the
Indian Constitution?

Options:



1. = B. R. Ambedkar

2. = Jawaharlal Nehru

3. = Sardar Vallabhbhai Patel
4. v ML.N.Roy

Question Number : 76 Question Id : 5861808204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT g & [BER S GiHa T&a arell Ugl cdidd hid
AqT?

Options:

1. % &Y. 3. 3FSEH

2. = SATELeTe dg®
3. » TGR deold AT Uedl
4.

v TH.Ud. 9

Question Number : 77 Question Id : 5861808205 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following article deals with amendments of the
Indian Constitution?

Options:

1. = Article 330
2. » Article 332
3. v Article 368
4. = Article 386

Question Number : 77 Question Id : 5861808205 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafelf@d & @ FlaT @1 e AT TfaUre & Fendsl &

Options:




% 3efessg 330
* 3efde 332
v 3dTde 368
* 3efode 386

Question Number : 78 Question Id : 5861808206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the first Indian woman to win an individual medal
at the Olympic Games?

Options:

1. = P.V. Sindhu
2. Saina Nehwal

ol

3. = Mary Kom
4, v Karnam Malleswari

Question Number : 78 Question Id : 5861808206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el el H Ugeh Siidal dTell Ugell R Higell shie oT?

Options:

1.« dr. 4. &y

2. %= BT Sg&dTe
3. = T *A

4. v HUTH Heoleadl

Question Number : 79 Question Id : 5861808207 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following is the record holder of maximum

number of Grand Slam Mens' Doubles titles?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:




1. Todd Woodbridge
2. Roger Federer

3. Rafael Nadal

4. Leander Paes

Question Number : 79 Question Id : 5861808207 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafafEag & O fraa 3T | Aed Soed & aad a9
o Ja 87

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1. 213 o

2. Vo heW

3. IRITel oAsTdl
4. TIIUET O

Question Number : 80 Question Id : 5861808208 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following cricketers has scored the highest
career total runs in the test cricket format?

Options:

1. v Sachin Tendulkar
2. = Ricky Ponting

3. = Brian Lara

4. = Kumar Sangakkara

Question Number : 80 Question Id : 5861808208 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFaTTodd # & T Fhahel @ 379el Tohehe FNIAL H &
fohehe WIHe H &8 JUF I FAI0 87




Options:

1. v e d“%eich{
. = TreRT gifesT

2
3. % F—Tad NI
4

. * FAR IR

Arithmetic Ability1
Group Number : 5
Group Id : 586180396
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 586180400
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section |d: 586180549
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 5861808209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to solve the equation :
684 +40f5+96+8x3=7

Options:



1. = 684
2. v 891
3. = 728
4. = 512

Question Number : 81 Question Id : 5861808209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HATRIOT T g Wl & folv Toq 3T fashew el

5+96 + 8x 3 hT0684 +4=7

Options:

1. = 684
2. v 891
3. % /28
4. = 512

Question Number : 82 Question Id : 5861808210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The HCF of two numbers are 19 and the other two factors of
their LCM are 13 and 15. What is the smaller number of the
two?

Options:

1. = 285
2. v 247
3. = 266
4. % 195

Question Number : 82 Question Id : 5861808210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ol HEAT3 T FAEcd A FHATIAH 19 & 3T 3aTeh e
HATITAR & 37 ar e 13 3T 15 &1 3t & & BT

&IT FAT &7

Options:

1. = 285
2. v 247
3. = 260
4. = 195

Question Number : 83 Question Id : 5861808211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

0.05 x0.0125 is equal to

Options:

1. v 0.000625

2. » 0.00625

3. % 0.0000625
4. » 0.00000625

Question Number : 83 Question Id : 5861808211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

0.05 x 0.0125 & ST &

Options:

1. v 0.000625
2. = 0.00625
3. = 0.0000625
4. = 0.00000625

Question Number : 84 Question Id : 5861808212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the value of:

J{z + j{43 + (30 + J36)) =2

Options:

1.+ 3
2. %4
3.5
4. %6

Question Number : 84 Question Id : 5861808212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FT T ATT AT FL

j{z + j{43 + (30 + J36)) =2

Options:

1. v 3
2. = 4
3. % 5
4, = 6

Question Number : 85 Question Id : 5861808213 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following numbers is divisible by 8?

Options:

1. » 28692
2. v 63504



3. = 36518
4. % 96842

Question Number : 85 Question Id : 5861808213 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

@& d # @ i O §&aT 8 8 THeT &7

Options:
1. = 28692
2. v 63504

3. = 36518
4. = 96842

Question Number : 86 Question Id : 5861808214 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to solve the equation:

10+5x(112+32) +4=7
Options:

1. = 55

2. % 225
3.+ 190
4. = 540

Question Number : 86 Question Id : 5861808214 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HATRIOT HT gol ol & foIv To g 3Tl fashed e |

10 +5x (112 +32) + 4 = 7

Options:

1. = 55



2. % 225
3. v 190
4. = 540

Question Number : 87 Question Id : 5861808215 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to solve the equation:

206x104+5x103 +3x10=7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 26530
2. 25630
3. 26053
4. 26350

Question Number : 87 Question Id : 5861808215 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HHATRIOT T gol el & folv ToF 3RIT fasheT Tl

206 x 104 + 5 x 103 + 3 x 10 = 7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. 26530
2. 25630
3. 26053
4. 26350

Question Number : 88 Question Id : 5861808216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



If 0.434343... 1s converted to a fraction, then the result is:

Options:

1. v 43/99
2. % 43/100
3. % 1/3

4. % 23/140

Question Number : 88 Question Id : 5861808216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

gfe 0.434343 ... &1 e A gRada foar Jar §, ar aRomA
&

Options:

1. v 43/99
2. = 43100
3. = 1/3

4. = 23/140

Question Number : 89 Question Id : 5861808217 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The HCF of two numbers is 13 and their LCM is 1131. If one of
the numbers is 39, what is the other number?

Options:

1. v 377
2. % 256
3. = 281
4, % 345

Question Number : 89 Question Id : 5861808217 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



al HEAT3 T AEcd A FATIATH 13 & 3T 3eTehl olHccTA
gAIads 1131 &1 IS 37 Feam3t & & v 39 &, o qudl

EIT FAT &7

Options:

1. v 377
2. = 256
3. = 281
4. » 345

Question Number : 90 Question Id : 5861808218 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following numbers is divisible by 9?

Options:

1. v 475434
2. % 534373
3. % 964213
4. % 634546

Question Number : 90 Question Id : 5861808218 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=T # @ i O ¥&ar 9 8 99T &7

Options:

1. v 475434
2. = 534373
3. = 964213
4. = 634546

Question Number : 91 Question Id : 5861808219 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A seller marks his goods 20% above his cost price. If he allows
his customers 15% discount, then how much profit or 1oss
does he make?

Options:

1. = 2% loss
2. v 2% profit
3. = 5% loss
4. = 5% profit

Question Number : 91 Question Id : 5861808219 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh TdehelT 379el ATl I 3Uell oFd Hed & 20% F9 IECT §
I a8 379el ATEhT I 15% T B T &, ar 38 Torcalr o
T Bifel BT &7

Options:

1. = 2% @&

2. v 2% oH

3. = 5% glfel

4. » 5% oA

Question Number : 92 Question Id : 5861808220 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the average of 20%, 25%, 50% and 65% of a number Is 24,
then what is the number?

Options:

1. v 60
2. % 45
3. % 30
4 %75



Question Number : 92 Question Id : 5861808220 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afe ordl §&aT T 20%, 25%, 50% 3R 65% w1 3ied 24 &,
ar g% T&AT FAT &7

Options:

1. v 60
2. % 45
3. = 50
4. = 75

Question Number : 93 Question Id : 5861808221 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average age of Harl, Shyam and Ankit 3 years ago was 25
years and that of Shyam and Ankit 5 years ago was 22 year.
What is the present age of Hari?

Options:

1. = 22 years
2. % 28 years
3. % 25 years
4. v 30 years

Question Number : 93 Question Id : 5861808221 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 Y Ugel &, eUTH 3T 37fehd T 30d 37 25 a¥ o7 iR 5
¥ ggel oATH N 3fha FT 37 22 a¥ o7 g Fr add 3H

T 87

Options:
1. = 22 a@y
2. % 28 @Y

3. = 25 @Y



4. v 30 ¥

Question Number : 94 Question Id : 5861808222 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

What is the percentage increase in the area of a rectangle if
both the length and the breadth is increased by 20%?

Options:

1. v 44 percent
2. » 40 percent
3. * 48 percent
4. = 32 percent

Question Number : 94 Question Id : 5861808222 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uch31|ad3«‘&-‘l'=rﬁ§‘éﬂﬁ?|d gi& a1 § Il oers 3N IS
aldr & 20% 7 gig Hr A &7

Options:

1. v 44 giaera
2. = 40 gfaera
3. % 48 yfderd
4. = 52 gfaerd

Question Number : 95 Question Id : 5861808223 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If a equals 25% of ¢ and b equals 50% of ¢, then which one of
the following is 75% of b?

Options:

1. » 50% of a
2. % 75% of c
3.=125% of ¢
4. v 150% of a



Question Number : 95 Question Id : 5861808223 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifig a, ¢ F 25% & S 3T b, ¢ &F 50% & sT&T &, ar
AT ™d # & id T b T 75% &7

Options:

1. » a & 50%
2. * ¢ % 75%
3. = ¢ & 125%
4, v a & 150%

Question Number : 96 Question Id : 5861808224 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If X earns 25% more than Y and Y earns 20% more than Z,
then how much does X earn if Z earns Rs. 100?

Options:

1. v Rs. 150
2. % Rs. 115
3. % Rs. 130
4. % Rs. 125

Question Number : 96 Question Id : 5861808224 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifg X, Y & 25% 379k FATAr & 3 Y, Z & 20% 3779+
FATET &, ar e Z 100 FF FAET &, ar X raar sAmr &2

Options:

1. v 150 ® =&
2. % 115 T2
3. *» 130 T
4. = 125 T2




Question Number : 97 Question Id : 5861808225 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When an item is sold for Rs. 12000, the owner loses 20%, at
what price should it be sold so as to gain 10%?

Options:

1. = Rs. 15,000
2. » Rs. 18000
3. *= Rs. 17000
4. v Rs. 16,500

Question Number : 97 Question Id : 5861808225 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S AT € 12000 Fo=T & S S &, ar Ao wF 20%
AT BT &, 38 hT AT W ST S @nfgv Jife 10%
T B Hah?

Options:

1. = 15,000 ¥
2. % 18,000 T2
3. * 17,000 TI&
4. v 16,500 ¥9

Question Number : 98 Question Id : 5861808226 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

An article was sold for Rs. 3,950 at a discount of 10% after 2
successive mark-ups of 15% and 20%. Find the cost price of
the article.

Options:

1. = Rs. 3250.5
2. % Rs. 3259.25
3. = Rs. 3125.35



4. v Rs. 3180.35

Question Number : 98 Question Id : 5861808226 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U TE BT 15% 3T 20% F 2 HiAE kel & a1E 10% T

B 9T 3,950 SUAT H <7 AT AT TE] FT R Hed AT
FIraT]

Options:

1. = 3250.5 ¥
2. = 3250.25 ¥4
3. = 312535 ¥4
4. v 3180.35 ¥4

Question Number : 99 Question Id : 5861808227 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper expects a gain of 25% on his cost price. If in a
month, his sale was of Rs. 300, what was his profit?

Options:

1. v Rs. 60

2. » Rs. 240
3. = Rs. 120
4. = Rs. 180

Question Number : 99 Question Id : 5861808227 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh EehTele ST 3ol SRETT Hed T 25% T o gl =l
3FATE &1 Ifc T #dle #, 3Thr fashr 300 s9T 1 o, ar

3BT oTH AT 2477

Options:

1. v 60 T




2. = 240 ¥4I
3. = 120 ¥4
4. = 180 ¥

Question Number : 100 Question Id : 5861808228 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two numbers are in the ratio of 2 : 3. When 6 is added to
each, the ratio becomes 5 : 6. Then the greater number of the
two Is

Options:

1. % 2
2.% 4
3.%9
4. v6

Question Number : 100 Question Id : 5861808228 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&l HEAW 2 @ 3 K 3eurd H &1 S Ycdh # 6 SISt S g,
dl I 3Te[UTT 5 : 6 BT Sifam &1 aF Al 7 & &3 §er
gl

Options:

1. = 2
2. = 4
3. = 9
4. v 6

Arithmetic Ability2

Group Number : 6
Group Id: 586180397



Group Maximum Duration : 0

Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability2
Section Id : 586180401
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180550
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 5861808229 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If Rs. 760 1s to be divided among A, B and C in the ratio 3/5 :
1/3 : 2/5, then what is the share of B?

Options:

1. v Rs. 190
2. % Rs. 342
3. = Rs. 228
4. % Rs. 250

Question Number : 101 Question Id : 5861808229 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifg 760 sUAT FT A, BN C F S 3/5: 1/3 : 2/5
Wﬁﬁﬁaﬁﬁﬁmmﬁ,a’rmewﬁ?

Options:



v 190 ¥
x 342 FOX
228 T
x 250 ®IF

ol
#®

Question Number : 102 Question Id : 5861808230 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 &AW JET I&AT 8 60% 3T 40% 3T &1 SeT ar

HEAT3T T 3MeTared T §7

Options:

1. = 34
2. = 4.3
3. v &7
4. = 47

Question Number : 102 Question Id : 5861808230 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two numbers are 60% and 40% more than a third number.
What is the ratio of these two numbers?

Options:

1. % 314
2. % 4:3
3. v 877
4 % 477

Question Number : 103 Question 1d : 5861808231 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A person has invested Rs. 45000 of his income at 4% simple

interest for 2 years and the rest of his income at 6% simple

interest for 2 years. If the return from both the investments
are same, then what is the person’s income?

Options:

1. = Rs. 30,000
2. » Rs. 45,000
3. = Rs. 55,000
4. v Rs. 75,000

Question Number : 103 Question Id : 5861808231 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh ST of 39T 3T kT 45000 TIAT T 4% TTIRUT SIToT
W 2 9y & Tov 3 Y 3 6% TTUR0T &O7<7 9 2 d¥ =
v fager fram afe ot et & gy gaer &, ar 39
T =hT 3T FAT §7

Options:

1. = 30,000 ¥
2. % 45,000 ¥
3. » 55,000 ¥I&
4. v 75,000 ¥4

Question Number : 104 Question Id : 5861808232 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What will be the compound interest for the 2nd year earned
on Rs. 1500 at the compound interest rate of 4% per annum?

Options:

1. = Rs. 70
2. Rs 744



3. * Rs. 60
4. v Rs. 624

Question Number : 104 Question Id : 5861808232 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

uld a¥ 4% $r Thglg sTeT &7 W 1500 9T N gEy Ay
ol Tshglg sTTeT AT EEI?

Options:

1. = 70 ¥4
2. % 74.4 T
3. = 60 T
4. v 62.4 T

Question Number : 105 Question Id : 5861808233 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of 10500 amounts to Rs. 14700 in 5 year. What is the
simple rate of interest?

Options:

1. = 5 percent
2. % b percent
3. = 7 percent
4. v 8 percent

Question Number : 105 Question Id : 5861808233 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

5 gst & 10500 &9 T Tfer 14700 S92 &6 SI1dT &1 sg1T o
ATIROT T FIT &7

Options:

1. = 5 gfaera
2. % 6 yiaerd



3. » 7 giaera
4. v 8 ufqerd

Question Number : 106 Question 1d : 5861808234 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A train travels a certain distance at a speed of 15 km/h and
travels double the same distance at a speed of 30 kimm/h. What
is the average speed of the train?

Options:

1.~ 22.5 km/h
2. * 30 km/h
3. % 27.5 kimm/h
4. = 25 km/h

Question Number : 106 Question Id : 5861808234 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tsh JoEmsT 15 km/h FT 91T F v AR gt O wICAT E
3T 30 km/h T 31T & 2R T G FIAT &1 Tel@msT h
e At 4T §7

Options:

1. v 22.5 km/h
2. = 30 km/h
3. = 27.5 km/h
4. = 25 km/h

Question Number : 107 Question Id : 5861808235 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man travelled a distance of 81 km in 10 hours. He travelled
partly by foot at a speed of 3 km/h and partly by bicycle at a
speed of 15 km/h. What is the distance travelled on bicycle?

Options:



1. v 63.75 km
2. *» 68.25 km
3. % 61.5 ki

4. = 50.25 km

Question Number : 107 Question Id : 5861808235 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T ITEAT o 10 ¢ A 81 km =T T OF 1| 38 3RS &
8 3 km/h &1 i @ Uger 3T 3fes &7 & AEfehe & 15
km/h =T 17T & ATAT 7| ATSfehel T TF T 75 GIT Tohciall 872

Options:

1. v 63.75 km
2. % 68.25 km
3. = 61.5 km
4. = 50.25 km

Question Number : 108 Question Id : 5861808236 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A worker travelled a distance of 97 km in 11 hours. He
travelled partly by foot at 5 km/h and partly by bicycle at 11
km/h. What is the distance travelled on foot?

Options:

1. = 17.5 km
2. % 15 km
3. v 20 km
4. % 25 km

Question Number : 108 Question Id : 5861808236 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Ueh SRl of 11 g¢ H 97 km T g1 OF &1l 3qa 37T
& & Yoo 5 km/h AT 3f9 &7 O gEfed . 11 km/h &
AT 7| Uger T Hr T Fehdelr §7

Options:

1. = 17.5 km
2. = 15 km
3. v 20 km
4. = 25 km

Question Number : 109 Question Id : 5861808237 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Anita and Rashi can do a piece of work in 12 days. Rashi and
Anamika can do the same work in 20 days. Anamika and
Anita can do the same work in 15 days. If Anita, Rashi and
Anamika work together, then in how many days will they
complete the work?

Options:

1. = 5 days

2. v 10 days
3. = 15 days
4. = 20 days

Question Number : 109 Question Id : 5861808237 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT 3 TR 12 & # U 1A W T Fehall g1 TR 3R
ATTHRT 20 AT H TET hTH T Tehdl &l TATTHBT 3T 3ATdr
15 T&aT H# Tar hTH L Thdl gl I 3Hadr, =T AR

HATTHFT T FIH FIT g, ar 3 fordar et & w1 @ S

Options:




x 5 feaT

v 10 feat
x 15 feat
x 20 fea

Question Number : 110 Question Id : 5861808238 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P, () and R can do a job in 10, 15 and 20 days respectively. In
how many days can P do the work if he 1s assisted by Q and R
every fourth day?

Options:

1. = 5.36 days
2. v 7.74 days
3. = 648 days
4, = 7.25 days

ol

Question Number : 110 Question Id : 5861808238 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P, Q 3w R s#Ae: 10, 15 3T 20 &t & U FTH HT Thd &l
afg P &l g7 @ fea Q 3R R @iy @g=gdr el ardr g,
dr g forcel el & 1 QU T Forell §7

1. = 5. 36 faaT
2. v 7. 74 f&=1
3. % 6. 48 =T
4. % 7.25 faa

Question Number : 111 Question Id : 5861808239 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



10 men can complete a work in 6 days and 10 women take 12
days to complete the work. How many days will 5 men and 10
women take to complete the work?

Options:
1. = 4 days
2. » 5 days
3. v 6 days
4. = 8 days

Question Number : 111 Question Id : 5861808239 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

10 &9 6 feall & U 1A T FT Tehed § 3T 10 Afgemait w1
FTH QT A & 12 & @erd g1 5 g 3T 10 Afgensi #1

b W e

FTH T Tt & Tohde g oeia?

Options:

1. = 4 &
2. % 5 faa
3. v 6 e
4. » 8 fea

Question Number : 112 Question Id : 5861808240 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the circum radius of an equilateral triangle be 10 cm, then
what is the height of the triangle?

Options:

1.+#15 cm

2. % 5 cm
3. =12 cm
4. = 6 Ccm



Question Number : 112 Question Id : 5861808240 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"‘Jﬁﬂd-lﬂlgﬁﬁgd 1 9t e 10 cm &, ar 38 BT &1

A FAT &7

Options:

1. v 15 cm
2. » 5 cm
3. = 12 cm
4. = 6 cm

Question Number : 113 Question Id : 5861808241 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The length of the side of a square is (x + 2). The length of a
rectangle is 2x and the breadth is 3x. If the perimeter of the
square and rectangle is same, what is the value of x?

Options:

1. = 45
2.% 3
3. v 4/3
4 %5

Question Number : 113 Question Id : 5861808241 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U I & I T WEIS (x + 2) B U A HT A 2x B
T s 3x &1 FfE ot 3 3mad T oY gAE &, ar x Fr

ATeT T &7

Options:

1. = 4/5
2. % 3
3. v 443




4. = 5

Question Number : 114 Question Id : 5861808242 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

. . . 2 ..
The total surface area of a right circular cone is 792 cm . If its
radius is 12 cm, what is its slant height?

Options:

1. %= 15 cm
2. v 9 cm
3.% 12 cm
4, = 18 cm

Question Number : 114 Question Id : 5861808242 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

\ \ . . 2
Tk HARIUT TAATRR TF T el TAg T &Thel 792 cm gl

e Ferl Fedr 12 cm &, dF S9! [olar 318 a1 &7

Options:

1. = 15 cm

2. v 9 cm
3. % 12 cm
4., = 18 cm

Question Number : 115 Question Id : 5861808243 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following table shows the number of students enrolled
for different subjects from 2015 to 2018. By what percentage
has the number of students enrolled for Biology has increased
from 2016 to 20187

Subjects 2015 2016 2017 2018

Physics 50 65 70 80

Maths 45 50 65 75

Chemustry 42 38 50 56

Biology 28 30 40 a5
Options:

1. = 40 percent
2. » 35 percent
3. = 45 percent
4. v 30 percent

Question Number : 115 Question Id : 5861808243 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



foaeT arfererr 2015 & 2018 T e Ay & fow ATATRT
ST AT T SATAT &1 2016 & 2018 T TaeT & v
ATHIRT BT T&AT fohda UTaerd Fer &7

ICEE 2015 2016 2017 2018

S IEED

foTa 45 50 65 75

S IR

?TH 42 38 S0 56
Sd

ﬁm 28 30 40 45

Options:

1. = 40 wfcrerd
2. % 35 yfaerd
3. % 45 yiderd
4. v 50 uiaera

Question Number : 116 Question Id : 5861808244 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Jg Y Or¢ v gl @A & =9 Fr getar & afe ”Jey
Teeh 8,000 T &, AT FIITST kI SIAT F4T &7

Options:

1. v 32,000 ¥93
2. % 25,000 FI2
3. = 30,000 ¥
4. = 48,000 FIX

Question Number : 116 Question Id : 5861808244 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The pie chart shows the expenditure of a magazine producer.
If the miscellaneous charges are Rs. 8,000, then what is the
cost of paper?

Expenditure of a Magazine Producer

Mise charges

Options:

1. v Rs. 32,000
2. = Rs. 25,000
3. * Rs. 30,000
4. » Rs. 48,000

Question Number : 117 Question Id : 5861808245 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The pie chart shows the sale of different soaps in 2019. the
total revenue earned by this sector was 120 crores. How
much money did Company € make than Company E?

Sales of Different Soaps

Options:

1. = Rs. 11.5 crores



2. % Rs, 10.2 crores
3. v Rs. 9.6 crores
4. = Rs. 8.4 crores

Question Number : 117 Question Id : 5861808245 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tg IR AC 2019 A fafdiea @iger $r foshr 1 a=iiar &1 59
& @RI 3Tl el 3T 120 FU5 21| ol E T Jofel
F9aT C o Tohdar 3119k a7 FATIT?

[CIECE RGN CED )

Options:

1. = ¥ 11.5 FUs
2. = ¥F 10.2 FU3
3. v 9T 9.6 #US
4. = T 8.4 Fg

Question Number : 118 Question Id : 5861808246 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following bar chart shows the quantity (in million kg) of
jute exported by India from 2013-2018. For how many years
is the quantity exported higher than the average quantity
exported across all years?

420
i
170
130 i
018

1013 014 2015 016 2017
Year

as0

cxported by India
$38%8

Quantity (In milllon ki) of jute

o855
PRI B
LA

Options:

1. %1
2.% 3
3.5 4
4. v 2

Question Number : 118 Question Id : 5861808246 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



foreeT T8 3 2013 - 2018 # HRAT @RI T S T
AT (AT kg #) R@Tar &1 fohde auf & folv T &1 a5
Aad AET 8 3T 57

F — 350
vl
: 11 o
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Options:

1. % 1
2. % 3
3. % 4
4. v 2

Question Number : 119 Question Id : 5861808247 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The histogram shows the GDP (in Rs. billion) of India over
different years. In how many years the GDP 1s more than
average GDP?

&00
500

im

= 300

axs
30 g
250
ﬁ . . =
. 2
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2012-2013 014-2015 2016-2017
2017-2018 2015-2016 2013-2014

Year

Options:

1. =1
2.% 2
3.v3
4 %4

Question Number : 119 Question Id : 5861808247 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afe aRT RAffed asf & ara & T 3cue GRT T9
H) I ZTar g1 T8 GDP foraa asf # sftaa GDP & 31fas &7

S50

AN & ST

o588 1E

1012-2013 014-2015 2016-2017
2017-2018 I‘DI.!»N“ 2013-2014

Options:



1. % 1
2. % 2
3. v 3
4. % 4

Question Number : 120 Question Id : 5861808248 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The line graph shows the annual food grain production over
the years 2012-2017. If the production in 2012 is estimated to
be 60% more than that in 2011, the estimate of 2011
productionis

140
E 120 2
-] 120
° 10 110
a 2 109
N
E-: 0. % &
& W
F
{ =
< 0

2012 2013 2014 15 W16 2017

Year

Options:

1. v 50 units
2. % 120 units
3. = 55 units
4. = 100 units

Question Number : 120 Question Id : 5861808248 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Tg QT ATE 2012 - 2017 & NI aIi¥eh WeATeel 3Gl hh
Zear &1 Ifg 2012 & 3cureeT 2011 A ERRICT T 60%
3T AT &, aAT 2011 & 3cUTGsT T 3To[HTS .y

Eiiﬂ
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Options:
1. v 50 ZRrm
2. = 120 Srzam
3. = 55 h13AT
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Question Number : 121 Question Id : 5861808249 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is free
from error, select the "No error” option.

(A) Raj go to the bed/ (B) at ten/ (C) everyday./ (D) No error

Options:

1.vA
2. B
3.= C
4, %D

Question Number : 121 Question Id : 5861808249 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence I1s free from error, select the "No error" option.

(A) Raj] go to the bed/ (B) at ten/ (C) everyday./ (D) No

error

Options:

1. v A
2. = B
3. = C
4. = D

Question Number : 122 Question Id : 5861808250 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is {ree
from error, select the "No error” option.

(A) Abhay didn’t/ (B) wanting to go/ (C) to the school./ (D) No
error

Options:

1.« A
2.v DB
3.5 C
4, %]



Question Number : 122 Question Id : 5861808250 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence Is free from error, select the "No error" option.

(A) Abhay didn't/ (B) wanting to go/ (C) to the school./ (D)

No error

Options:

1. = A
2. v B
3. = C
4. = D

Question Number : 123 Question Id : 5861808251 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is {ree
from error, select the "No error” option.

(A) Harry is / (B) keen in studying / (C) French in school./ (D)
No error

Options:

1. = A
2.v B
3. = C



4. %D

Question Number : 123 Question Id : 5861808251 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence Is free from error, select the "No error" option.

(A) Harry 1s { (B) keen in studying / (C) French in school.f
(D) No error

Options:

1. = A
2. v B
3. = C
4. = D

Question Number : 124 Question Id : 5861808252 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence Is free from error, select the "No error" option.

(A) Each boy was / (B) given a chocolate which / (C)
delighted him very much. / (D) No error

Options:

1. = A



2. = B
3. v C
4. = D

Question Number : 124 Question 1d : 5861808252 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is free
from error, select the "No error” option.

(A) Each boy was / (B) given a chocolate which / (C) delighted
him very much. / (D) No error

Options:

1. = A
2. % B
3.v(C
4. =D

Question Number : 125 Question Id : 5861808253 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is free
from error, select the "No error” option.

(A) Rita’s boss told her that/ (B) if she is promoted/ (C) she will
get a higher salary./ (D) No error

Options:

1. = A



2.« B
3.=C
4. v D

Question Number : 125 Question Id : 5861808253 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence Is free from error, select the "No error" option.

(A) Rita's boss told her that/ (B) if she i1s promoted/ (C)
she will get a higher salary./ (D) No error

Options:

1. = A
2. = B
3. C
4. v D

Question Number : 126 Question Id : 5861808254 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.

He plays piano and violin (also).

Options:

1. ¥ 10O
2. % 10
3. = both



4, » also

Question Number : 126 Question Id : 5861808254 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options

given.

He plays piano and violin (also).
Options:

1. v too
2. % to
3. % both

4. = also

Question Number : 127 Question Id : 5861808255 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.

Pari requested Aman (to open) the knot.

Options:

1. v to untie
2. * to push
3. = to pull
4. = 10 break

Question Number : 127 Question Id : 5861808255 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Replace the words in the bracket from the set of options

given.

Parl requested Aman (to open) the knot.

Options:

1. v to untie
2. » to push
3. = to pull

4. = to break

Question Number : 128 Question Id : 5861808256 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.

Jhanvi arrived (at) Bombay last August.

Options:

1. v 1in
2. » With
3. = for
4. = on

Question Number : 128 Question Id : 5861808256 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options

given.

Jhanvi arrnived (at) Bombay last August.

Options:

1. v In



2. % with
3. = for
4. = on

Question Number : 129 Question Id : 5861808257 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.

Julie was in I.C.U. for a month (after) the accident.

Options:

1. = with

2. % 10

3. v following
4. = from

Question Number : 129 Question Id : 5861808257 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options

given.

Julie was Iin |.C.U. for a month (after) the accident.

Options:

1. = with
2. % to
3. v following

4. = from

Question Number : 130 Question Id : 5861808258 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Replace the words in the bracket from the set of options given.

The girl (which) came to see me had come {rom Bangalore.

Options:

1. * whom
2. v who
3. = that
4. = which

Question Number : 130 Question Id : 5861808258 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options

given.

The girl (which) came to see me had come from Bangalore.

Options:

1. = whom
2. v who
3. = that
4. = which

Question Number : 131 Question Id : 5861808259 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

Did the girls turn __ for the singing rehearsals?

Options:

1. = for
2. % 0N



3. % In
4. v up

Question Number : 131 Question Id : 5861808259 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

Did the girls turn for the singing rehearsals?

Options:

1. = for
2. % on
3. % 1In
4. v up

Question Number : 132 Question Id : 5861808260 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with appropriate Conjunction.

Sanjay told me you reached the station half an hour
ago.

Options:

1. v that
2. % hut
3. = and
4. = hecause

Question Number : 132 Question Id : 5861808260 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with appropriate Conjunction.

Sanjay told me you reached the station half an

hour ago.

Options:

1. v that
2. = but
3. # and
4. = because

Question Number : 133 Question Id : 5861808261 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct form of verb from the given options.

When Ram lived in Pune, he to the cinema once a
week.

Options:

1. = goes

2. = will be going
3. » was going

4, v went

Question Number : 133 Question Id : 5861808261 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct form of verb from the given options.

When Ram lived in Pune, he to the cinema once

a week.

Options:



1. = goes

2. = will be going
3. * was going
4. v went

Question Number : 134 Question Id : 5861808262 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct form of verb from the given options.

When Joe was in India, he the Taj Mahal, the Gateway
of India and the Red Fort.

Options:

1. * was visiting
2. » was visited
3. v visited

4. = have visited

Question Number : 134 Question Id : 5861808262 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct form of verb from the given options.

When Joe was In India, he the Ta] Mahal, the
Gateway of India and the Red Fort.

Options:

1. = was visiting

2. % was visited
3. v visited

4. = have visited



Question Number : 135 Question 1d : 5861808263 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

Rakesh suggested his friend to not depend ____ others.

Options:

1.~ 0on
2. = for
3. = with
4. % upon

Question Number : 135 Question Id : 5861808263 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

Rakesh suggested his friend to not depend others.

Options:

1. ¢ on
2. = for

3. = with
4, % upon

Question Number : 136 Question Id : 5861808264 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

The beggar was charged theft.

Options:

1. v with
2. = at



3. % of
4. = 1n

Question Number : 136 Question Id : 5861808264 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

The beggar was charged theft.

Options:

1. v with
2. % at
3. = of
4. % In

Question Number : 137 Question Id : 5861808265 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

The road was named Dr. A.P.J. Abdul Kalam.

Options:

1. = on
2. = with
3. v after
4. = in

Question Number : 137 Question Id : 5861808265 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

The road was named Dr. A.P.J. Abdul Kalam.



Options:

1. = on
2. % with
3. ¢ after

4. % |n

Question Number : 138 Question Id : 5861808266 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

They furnished the library new books.

Options:

1. = at
2. » from
3.=0of
4, v with

Question Number : 138 Question Id : 5861808266 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

They furnished the library new books.

Options:

1. = at
2. # from
3. = of
4. v with

Question Number : 139 Question Id : 5861808267 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The question given below consist of a set of labelled parts of a
sentence. Out of the four options given, select the most logical
order of the parts which form a coherent sentence.

In 1923, Premchand

P :- and publishing house

(Q :- christened "Saraswati Press”
R :- established a printing press
S - In Banaras

Options:

1. » SPQR
2. = RQPS
3. v RPS(Q)
4. = QRPS

Question Number : 139 Question Id : 5861808267 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The question given below consist of a set of labelled parts
of a sentence. Out of the four options given, select the
most logical order of the parts which form a coherent

sentence.

In 1923, Premchand

P :- and publishing house

Q :- chnstened "Saraswati Press”
R :- established a printing press

S - In Banaras

Options:



1. = SPQR
2. » RQPS
3. v RPSQ
4. » QRPS

Question Number : 140 Question Id : 5861808268 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The question given below consist of a set of labelled parts of a
sentence. Out of the four options given, select the most logical
order of the parts which form a coherent sentence.

Tamana is

P : with her father and brother
(Q : the hill station

R : planning to go to

S : to spend the vacation

Options:

1. v RQPS
2. * PQRS
3. * PSRQ
4. = RSPQ

Question Number : 140 Question Id : 5861808268 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The question given below consist of a set of labelled parts
of a sentence. Out of the four options given, select the
most logical order of the parts which form a coherent

sentence.

Tamana Is

P : with her father and brother
Q : the hill station

R : planning to go to

S : to spend the vacation

Options:
1. v RQPS
2. » PQRS
3. » PSRQ
4. = RSPQ

General English?
Group Number : 8
Group Id: 586180399
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



General English2

Section Id : 586180403

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 586180552
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 5861808269 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The question below consist of a set of labelled sentences. Out
of four options given, select the most logical order of the
sentences which form a paragraph.

In fact most theatre buffs say that English theatre in Mumbai
has survived against all odds.

P : It has had to overcome an acute financial impoverishment
which meant that most who were doing 'serious’ plays were
doing it only for the love of it.

(Q : Producers of comedies and musicals find it easiest to
attract sponsors.

R : What sells today is religion and sex.

S : To get money a new marketing ruse is to sell the entire
show to a corporate sponsor.

Bharat Dabholkar’s Bottoms Up series has enthralled the
city’s audiences for years with its sexual innuendoes and
double entendres.

Options:



1. = PRQS
2. v PSQR
3. = SRPQ
4. = RQSP

Question Number : 141 Question Id : 5861808269 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The question below consist of a set of labelled sentences.
Out of four options given, select the most logical order of

the sentences which form a paragraph.

In fact most theatre buffs say that English theatre In

Mumbai has survived against all odds.

P : It has had to overcome an acute financial
iImpoverishment which meant that most who were doing
'serious’ plays were doing it only for the love of it

Q : Producers of comedies and musicals find it easiest to
attract sponsors.

R : What sells today 1s religion and sex.

S : To get money a new marketing ruse Is to sell the

entire show to a corporate sponsor.

Bharat Dabholkar's Bottoms Up series has enthralled the
city's audiences for years with its sexual innuendoes and

double entendres.



Options:

1. = PRQS
2. v PSQR
3. = SRPQ
4. = RQSP

Question Number : 142 Question Id : 5861808270 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best
expresses the meaning of the given word.

Triumph
Options:

1. v Victory
2. = Failure
3. = EXcitement
4. = Foolish

Question Number : 142 Question Id : 5861808270 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best

expresses the meaning of the given word.

Triumph

Options:

1. v Victory
2. = Failure

3. #= Excitement



4. = Foolish

Question Number : 143 Question Id : 5861808271 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best
expresses the meaning of the given word.

Acumen

Options:

1. v Brilliance
2. » Ignorance
3. = Fancy

4. = Forgive

Question Number : 143 Question Id : 5861808271 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best

expresses the meaning of the given word.

Acumen

Options:

1. v Brilliance
2. = Ignorance
3. = Fancy
4. = Forgive

Question Number : 144 Question Id : 5861808272 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Out of the four alternatives, choose the word which best
expresses the meaning of the given word.

Ratify

Options:

1. = Plain
2. » Deny
3. v Consent
4. = TUsual

Question Number : 144 Question Id : 5861808272 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best

expresses the meaning of the given word.

Ratify

Options:

1. = Plain
2. = Deny
3. v Consent

4. = Usual

Question Number : 145 Question Id : 5861808273 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which is
OPPOSITE in meaning to the given word.

Mammoth

Options:

1. « Gilant



2. = Enormous
3. = Huge
4. v Tiny

Question Number : 145 Question Id : 5861808273 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which Is

OPPOSITE In meaning to the given word.

Mammoth

Options:

1. = Qiant
2. = Enormous
3. = Huge
4, v Tiny

Question Number : 146 Question Id : 5861808274 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which 18
OPPOSITE in meaning to the given word.

Disdain
Options:

1. v Praise

2. #» Defend
3. = Reveal
4. » Distort

Question Number : 146 Question Id : 5861808274 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Out of the four alternatives, choose the word which Is
OPPOSITE in meaning to the given word.

Disdain
Options:

1. v Praise
2. = Defend
3. * Reveal
4.

 Distort

Question Number : 147 Question Id : 5861808275 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt
correctly. Choose the correctly spelt word.

Options:

1. = Adumbrat
2. » Adumbrete
3. v Adumbrate
4. » Adumbret

Question Number : 147 Question Id : 5861808275 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word Is spelt

correctly. Choose the correctly spelt word.

Options:

1. = Adumbrat
2. = Adumbrete
3. v Adumbrate



4. = Adumbret

Question Number : 148 Question Id : 5861808276 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt
correctly. Choose the correctly spelt word.

Options:

1. v Dilate

2. = Dialate
3. = Diallate
4. = Dialete

Question Number : 148 Question 1d : 5861808276 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word Is spelt

correctly. Choose the correctly spelt word.

Options:

1. v Dilate
2. = Dialate
3. = Diallate
4. = Dialete

Question Number : 149 Question Id : 5861808277 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt
correctly. Choose the correctly spelt word.

Options:

1. » Orangutang
2. v Orangutan
3. = Oragutan



4. = Qragutang

Question Number : 149 Question Id : 5861808277 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt

correctly. Choose the correctly spelt word.

Options:

1. = QOrangutang
2. v QOrangutan
3. » QOragutan

4. = Qragutang

Question Number : 150 Question Id : 5861808278 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

Head and shoulder above

Options:

1. = Inferior
2. v Superior
3. = Excited
4. = Devoted

Question Number : 150 Question Id : 5861808278 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

Head and shoulder above

Options:

1. = Inferior



2. v Superior
3. = Excited
4. = Devoted

Question Number : 151 Question Id : 5861808279 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

Necessity is the mother of invention

Options:
1. ¥ When the need for something becomes essential, you are
forced to find ways of getting or achieving it.

2. * One cannot achieve anything without the blessings of
their mother.

3. » To do the thing you've been wanting to do so you can
move on

4. = No matter how hard you work, there is no guarantee of
SUCCess.

Question Number : 151 Question Id : 5861808279 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

Necessity I1s the mother of invention

Options:

1. v When the need for something becomes essential, you

are forced to find ways of getting or achieving It.

2. » One cannot achieve anything without the blessings of

their mother.



3. » To do the thing you've been wanting to do so you can

move on

4, = No matter how hard you work, there is no guarantee

of success.

Question Number : 152 Question Id : 5861808280 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

What does the following idiom mean?

Through thick and thin

Options:

1. = To be odd one out in a group.
2. * Someone who was fat has become thin.

3. v To support someone no matter how difficult the situation
is.

4. = To get into trouble.

Question Number : 152 Question Id : 5861808280 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

What does the following idiom mean?

Through thick and thin

Options:

1. * To be odd one out in a group.
2. = Someone who was fat has become thin.

3. v To support someone no matter how difficult the

situation Is.

4. = To get Into trouble.



Question Number : 153 Question Id : 5861808281 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the
alternative which is the best substitute of the given
words/sentence.

One who Is filled with excessive enthusiasm in religious
matters

Options:

1. = Arsonist

2. = Atheist

3. v Fanatic

4. = Connoisseur

Question Number : 153 Question 1d : 5861808281 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the
alternative which i1s the best substitute of the given

wordsf/sentence.

One who s filled with excessive enthusiasm In religious

matters

Options:

1. = Arsonist
2. % Atheist
3. v Fanatic

4. = Connoisseur

Question Number : 154 Question Id : 5861808282 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, out of four alternatives, select the
alternative which is the best substitute of the given
words/sentence.

A person who deliberately sets fire to a building.

Options:

1. = Agnostic
2. v Arsonist
3. = Atheist
4. = Ascetic

Question Number : 154 Question 1d : 5861808282 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the
alternative which i1s the best substitute of the given

wordsf/sentence.

A person who deliberately sets fire to a building.

Options:

1. = Agnostic
2. v Arsonist

3. % Atheist

4. = Ascetic

Question Number : 155 Question Id : 5861808283 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, out of four alternatives, select the
alternative which is the best substitute of the given
words/sentence.

One who treats skin diseases

Options:

1. = Archaeologist
2. v Dermatologist
3. = Anthropologist
4. = Ecclesiologist

Question Number : 155 Question 1d : 5861808283 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the
alternative which i1s the best substitute of the given

wordsf/sentence.

One who treats skin diseases

Options:

1. = Archaeologist
2. v Dermatologist
3. # Anthropologist

4. = Ecclesiologist

Sub-Section Number: 2
Sub-Section Id: 586180553
Question Shuffling Allowed : Yes

Question Id : 5861808284 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)



Question Label : Comprehension
Read the passage carefully and answer the given question.

Dr. Kalam has a literary bent of mind. "'Wings of Fire’ is his
autobiography wherein he describes his humble journey,
shares his life experiences and aspirations with the people. He
has also written 'Ignited Minds’ and 'India 2020, a vision of
New Millennium'. India 2020 is his pathway of developing
India into a Developed Nation by 2020. 'Ignited Minds -
unleashing the power within India’ is dedicated to Snehal
Thakkar who had questioned Kalam on April 12, 2002 "Who
is our enemy?’. His love for children is revealed in the fact
that even after holding the highest Constitutional title he has
been touring the entire nation, meeting school students,
lecturing them and interacting with them. All he wants to do
is open a small school in Rameshwaram and teach the
children there, once he retires. He reads both the Quran and
Bhagwat Gita and his book 'Guiding Souls: Dialogues on the
purpose of life’ reveals his spiritual facets too.

Sub questions

Question Number : 156 Question Id : 5861808285 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements prove Kalam's love for
children?

Options:

1. = He had 5 children
2. = He used to play with children everyday

3. v He used to travel the entire nation to meet and lecture
students



4. = He used to teach children everyday

Question Number : 157 Question Id : 5861808286 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following books of Kalam describes the pathway
towards the development of India ?

Options:

1. * Wings of Fire

2. v India 2020, a vision of New Millennium

3. = Guiding Souls: Dialogues on the purpose of life

4. = Ignited Minds - unleashing the power within India

Question Number : 158 Question Id : 5861808287 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following book contains the life aspirations of
Kalam?

Options:

1. v Wings of Fire

2. = India 2020, a vision of New Millennium

3. = Guiding Souls: Dialogues on the purpose of life

4. = Ignited Minds - unleashing the power within India

Question Number : 159 Question 1d : 5861808288 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does Kalam plan to do after he retires?

Options:

1. » Go on a world tour.

2. = Carry scientific research.

3. » Start writing books.

4. v Teach at a small school in Rameshwaram.

Question Number : 160 Question Id : 5861808289 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following books reveals Kalam'’s spiritual
aspects?

Options:

1. = Wings of Fire

2. = India 2020, a vision of New Millennium

3. v Guiding Souls: Dialogues on the purpose of life

4. = Ignited Minds - unleashing the power within India

Question Id : 5861808284 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the passage carefully and answer the given question.

Dr. Kalam has a literary bent of mind. 'Wings of Fire' Is his
autobliography wherein he describes his humble journey,
shares his life experiences and aspirations with the people.
He has also written 'Ignited Minds' and 'India 2020, a vision
of New Millennium'. India 2020 i1s his pathway of developing
India into a Developed Nation by 2020. 'Ignited Minds -
unleashing the power within India' is dedicated to Snehal
Thakkar who had questioned Kalam on Apnl 12, 2002 "Who
Is our enemy?'. His love for children is revealed in the fact
that even after holding the highest Constitutional title he has
been touring the entire nation, meeting school students,
lecturing them and interacting with them. All he wants to do
Is open a small school In Rameshwaram and teach the
children there, once he retires. He reads both the Quran
and Bhagwat Gita and his book 'Guiding Souls: Dialogues

on the purpose of life' reveals his spirtual facets too.

Sub questions

Question Number : 156 Question Id : 5861808285 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements prove Kalam's love for

children?

Options:

1. = He had 5 children



2. » He used to play with children everyday

3. v He used to travel the entire nation to meet and lecture

students

4. = He used to teach children everyday

Question Number : 157 Question Id : 5861808286 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following books of Kalam describes the

pathway towards the development of India ?

Options:

1. = Wings of Fire

2. ¢ India 2020, a vision of New Millennium

3. = GQuiding Souls: Dialogues on the purpose of life
4.

* |gnited Minds - unleashing the power within India

Question Number : 158 Question Id : 5861808287 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following book contains the life aspirations of

Kalam?

Options:

1. v Wings of Fire

2. = |India 2020, a vision of New Millennium

3. » Guiding Souls: Dialogues on the purpose of life
4,

* |gnited Minds - unleashing the power within India

Question Number : 159 Question Id : 5861808288 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does Kalam plan to do after he retires?

Options:



1. * Go on a world tour.
2. = Carry scientific research.

3. = Start writing books.

4. v Teach at a small school in Rameshwaram.

Question Number : 160 Question Id : 5861808289 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Which of the following books reveals Kalam's spiritual

aspects?

Options:

1. * Wings of Fire

2. = India 2020, a vision of New Millennium

3. v Guiding Souls: Dialogues on the purpose of life

4. = Ignited Minds - unleashing the power within India
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Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180554
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 5861808290 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT U ¥, R Tddhedl § ¥, 39 ey BT ad= b ST U9 4§47 g
|

Options:

1. v gy
2. fdgd
3. * SoMT

4, % e

Question Number : 161 Question Id : 5861808290 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafa@a ued #, I) TFedl & 8, 39 QFed FT I9I9 R
S 39Ee | T &

Options:

1. v g9
2. = fagw
3. % SaEl
4. % ST

N

Question Number : 162 Question Id : 5861808291 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgerad v ¥, IR [Aaeul § 9, 39 5! [awmey &l ad= & ST 5eag
oT S1EC, 8

Options:

1. = 3TSIa




2. % JUPH
3. * T

4. v HEHSTd]

Question Number : 162 Question Id : 5861808291 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl i@ad ued #, I) Aeedl # &, 39 To! [dhed &I IIe
FL S Teud I §elT 95 &

Options:

1. = 3TSidel
2. % 3UhIOT

3. = shdlel
ot

4. v FHZh3Id]

Question Number : 163 Question 1d : 5861808292 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT U ¥, IR Tddedl § 9, [ T & o0 MR 3k

= e
[ddchod dh] T+ ch

AT TH O ST g 11 (ATadrerd haria<im)

Options:

1. = SqTAT
2. % GHAIT
3.« gaJ

4, v gdgd

Question Number : 163 Question Id : 5861808292 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



frafe@T mea A, a) Jwear A O, Rea Tua & v

= Y
i?légllog*{'lli 3d TdeheU <plT e <hd|

T A 8T ST 38 & (Ofaaraes srarfaeyon)

Options:

1. = SII&T
2. % AT
3. = Hal
4.&*39?17%?

Question Number : 164 Question Id : 5861808293 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fylerad vy §, IR aeul § ¥, 39 e &r Ig= &2 St 1aT T e
BT Tt €Y gl

T T

Options:

1. * puT
2. * O

3. % PR
4. v DS

Question Number : 164 Question Id : 5861808293 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, a) Bedr # 8, 39 TFeT FT TTT =
S QU 90 osg T dga &9 &l

Fafcant

Options:



1. = o
2.« FS
3.« F
4. v FHEY

Question Number : 165 Question Id : 5861808294 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyto@d vy §, o Aeen § 9, 39 wew o g9 o Y eu 7y e

BT TG €7 gl

I

Options:

1. = 9710
2. % qT0d
3. vdh
4, = LT

Question Number : 165 Question 1d : 5861808294 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @T med A, I) Tedr A &, 39 TFed FT TTT
ST U a0 efeg T IgcgH &7 &l

al<h

Options:

1. = oy
2. oTTad
3. v dsh
4. = oTET



Question Number : 166 Question Id : 5861808295 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mafeiad 7 #, oK [Awetl § ¥, 39 fddmew & o2 o 7 g1 e
qcYey ATY Pl frhey gl

Options:

1. « 72Ul # 34

2. * TSI <hl PHTY

3. v WIS & oIy oY

4, % STd ¥ =gd

Question Number : 166 Question Id : 5861808295 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafeEa ved #, I) TFedl # 8, 39 AFed FT II9 R
Sl HET FFIelel Tcqey THAN T fahed 8l

Options:
1. = g‘sq’r H 3cdH
2. % LTSIl <Rl FHAR

3. v TEE & v =X
4. = Sfd & =Jd

Question Number : 167 Question Id : 5861808296 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyerad Ty #, IR Aaeul § ¥, 39 [OdeT & ad= & S 70 M7 9
q ST YT GIT &7 Hal [adet gl

Jdad

Options::

1. = Fa
2. % Jadr
3. v qad

4, » JaTqH



Question Number : 167 Question Id : 5861808296 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafe@a wed A, IR TFedr # &, 39 TFed FT TTT
ST 30 90 o & FaiT HIgaTash AT T Jar TdhedT &l

Adeh

N
Options:

1. = gar
2. « TR
3. v Jlad
4.*%

Question Number : 168 Question Id : 5861808297 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MgTelTd U ¥, o [Adeul § ¥, 39 e &7 o= & 57 gq1ar § 1
AT H U Fel-TH DT SHY JA-TH & Heel SdT effel GA-TH i FAT dhgd

¥

Options:

1. v GFI-E T h
2. % 3 [o0

3. * HEgH ITq
4. % TASTeTI®

Question Number : 168 Question Id : 5861808297 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, I) TFedr # 8, 39 TFeT FT TTT =
ST ST § T areFy H Uk EAGH T gE GdoH & Joe
FdTal dTel TUTH Sl FAT Fad 57

Options:

1. v e ddh




2. % 3cdH gbﬁr

S.WF%«'EIFW

4. % Taslar=re

Question Number : 169 Question Id : 5861808298 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MEeiEd Uy #, I ddedl # ¥, 39 [ddheT ST T3 B2 Sl AT & 9

ATelT Aot gl

&r mer T agt o @ &

Options:

1. v [T uRATIa= S

2. % EU'I?TIW
3. = IATET GRITATAD

4. * AT

Question Number : 169 Question Id : 5861808298 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T ved #, I) TFeal & 8, 39 OFeT FT 999 =
ST [Jewor & AT arer [heT &l

2l aTHe RS I8l o @ |

Options:

1. v Teaa 9RAUERER

2. % NEIEES
3. = 3TaTead g&Egaeh
4. = HITHE

Question Number : 170 Question Id : 5861808299 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




MEeiEd Uy #, I [ddeul # &/, 39 [dheT &7 I e ST TohdT & A
dTelT gl [hehey gl

TTieldn ST T OTH PHLETT gl

Options:

1. v UM TohaT
2. % ATYT

3. * Teldliel
4. » GI>h

Question Number : 170 Question Id : 5861808299 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T ved #, I) TFeal & 8, 39 OFeT FT 999 =
S fopar & g arem gar [dhed &l

AlToleh dAlehd & HTH HEAT g

Options:

1. v OOMeR TohaT
2. % SATHYUTT

3. = Ydehlfelsh
4. = TYFA

Question Number : 171 Question Id : 5861808300 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MHeiEd Uy #, I Adeul # &, 39 [ddheT &7 T e ST ool H e
T IY 3BT [adheT gl

T&UTdt

Options:

1. » TR




2.« dced
3. = quyg
4, % g

Question Number : 171 Question Id : 5861808300 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafe@a wed H, IR Aedr # &, 39 TFed FT TTT
S Aele oo T Tad 3TaT Thed &

&Il

Options:

1. = J&T
2. v do¥d
3. » Y&
4, = U

Question Number : 172 Question Id : 5861808301 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyferad vy §, o aeeut § T, 39 RaeT & a7 & st gamdf oo
&7 Gal [adet g1 3l

SIGIE]

Options:

1. = HgATT

2. % TN
3. v ITad
4.*?@

Question Number : 172 Question Id : 5861808301 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fFITaad wed H, I” @hedl A &, 39 [AFed FT IIT
ST GATATAT efeg 7 Gar Aheq &7 &l

KIGIE)

Options:
1. = HAGHIA

2. % 3¥YTITd
3. v dTRAT
4. = TIEaT

O

Question Number : 173 Question Id : 5861808302 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
i W e S e

MHTeiad Uy #, I [dded] # 9, 39 [ddhed &7 T &e AT 3dd [ddhey

gl
U YTdgel TIRIEATAT & URTEATdAT # acel STeld gl

Options:

1. v Pl
2. * GTE®

3. % @ST
4. » IPT

Question Number : 173 Question Id : 5861808302 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, a) Bedr # 8, 39 TFeT FT TTT =

S 3™ [dhed &7

FAAR Aicdishel TRIEUTTAT T gl # Seor
STl B



Options:

1.&?3@,@
2. % HTTh

3. % hidel
4. = ShT

Question Number : 174 Question Id : 5861808303 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Myleldd T ¥, IR Tddetl #§ ¥, 39 g1 [ddel of T i ST arain
& ToIT T grec;, @r @y gl

LU YT UX 3T
Options:

1. v =T8T
2. % TSl
3. » TEYA

4. % TcAMYUT

Question Number : 174 Question Id : 5861808303 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foeafeli@ad ued #, I) [Aoedl A &, 39 To! [dhed &I II
R ST greRgTen & Tolv Uk orsg &7 [@heq &l

TEIT A WA
Options:

1. v I
2. = TgTIdelar

3. » Tarsd

4, = 3TcHTTAT




Question Number : 175 Question 1d : 5861808304 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT U ¥, IR Tddhedl § 4, 39 gl [didheT DT ad=T e ST 1&h AT
& To1q 3R fameT gl

ag U T T Ugd T

Options:

1. v FId
2. % SHad
3. % 94d
4. » AT

Question Number : 175 Question Id : 5861808304 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tt d w2l H, IX Ahedl # &, 39 el [dFheq T IIa
= S NoFa T & fov 3T Jseq &l

dg TAT 9T Tera l-|§t1 T

Options:

1. v TIa
2. % Agd
3. % dId

4. = AT

Question Number : 176 Question Id : 5861808305 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT Ul #, IR Tadmedl § 4, 39 gl [adbeT BT T B AT [ h AT
& TelT 3 [awmey gl

ST & &I T g1 4TI

Options:




Question Number : 176 Question Id : 5861808305 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFeITaad wedd H, IX Ahedl # &, 39 Tl [Theqd T IIa
F¢ S ReFa T & fov 3T Reeq a8

ST F FIg ATe & =T

Options:

1. v THHATA
2. = 3HHT
3. ® 3EHA
4. = 3THTeT

Question Number : 177 Question Id : 5861808306 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyleird 7 ¥, oR Tadetl #§ ¥, 39 g1 [dded of T+ ® ST [k T
& TeIq 3T Ty gl

wgIgey T AEHTT a1 Pl

Options:

1. v WO
2. * US-U&T
3. * SYUT-JUX
4. * TEr-g

Question Number : 177 Question Id : 5861808306 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




fITaad weed H, I) Q[hedl A &, 39 Tar [Theq T IIo
S RN Tumer & folv 3faa AereT &l

AGTISY T HASHIT ol R

fa
Options:

1. v IA-THI
2. = ger-uafY

3. % TIL-3IW
4, = %T?_lﬁr

Question Number : 178 Question Id : 5861808307 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT U ¥, IR Tddhedl § 4, 39 gl [didheT DT ad=T e ST 1&h AT
& To1q 3R fameT gl

AT TdeR g Sty 81 ol

Options:

1. v dTel-Glel
2. % G-t

3. * SYT-JUX
4, % IoTC-W

Question Number : 178 Question Id : 5861808307 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl &I WeaT H, I [dshedl & &, 30 T2 [dhed FT T4
F S ad Tae & forv 3T fadeT &l

AT FoREER O Sk AET ST9TdT|

Options:




1. v Tel-&Tel
2. % BR-SIId
3. * SYT-3W
4, = 3ele-the

Question Number : 179 Question Id : 5861808308 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Myfeiiad 7er 7, IR [Admeul § 9, 39 [dhey &7 a3 B ST g Ao T
gl fadmeT 3l

Options:

1. * Tdpal
2. % Tder
3. v Udhdl
4. % UhT

Question Number : 179 Question Id : 5861808308 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g ved #, I) TFedl & T, 39 OFeT FT II9
ST e[ <Tse 1 Tal fawed &

Options:

1. % Uehdl
2. % Uehal

3. v Uahdl
4. = UFdT

Question Number : 180 Question Id : 5861808309 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgieiiad U ¥, IR Aaetl § 9, 39 fadhet & o2 B ST g A P
G@' ey %I
Options:

1. v TOsgTg




2. % fareamg
3. = TorerEamy
4. » AOgTay

Question Number : 180 Question Id : 5861808309 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafe@a wed H, IR Aedr # &, 39 TFed FT TTT
ST ¢& ereg T FET fahed &

Options:

1. v Qeam
2. = TaEamw
3. = der@g
4. = faqTaer

General Hindi?2

Group Number : 10
Group Id: 586180401
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindi2

Section Id : 586180405
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 16
Number of Questionsto be attempted: 16

Section Marks: 20



Sub-Section Number: 1
Sub-Section I1d: 586180555
Question Shuffling Allowed : Yes

Question Number : 181 Question 1d : 5861808310 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

My v &, IR [Adetl § ¥, 39 [dded & o= & S 16U T SIed,
& Tl STee, BT T [Adey gl al

ﬁ?
Options:

1. = Tiig
2. % §IX
3. v fame
4, » Hgd

Question Number : 181 Question Id : 5861808310 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFaf@a wed H, IR AFedr # &, 39 TFed FT TTT
ST 20 910 o o UITIGRT 9IsE hT Tal TahedT sTal &l

g

Options:

1. = miE
2. *» BN
3. v @MNe

4. = FEAT

Question Number : 182 Question Id : 5861808311 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



YTl ad U ¥, IR [Od@eUl § €, 39 [9dhey & Iad= & I 1¢J MY e
& T e BT gl TadeT gl 3l

&

Options:

1. v Mg
2. % g
3. = gt
4. = Juea

Question Number : 182 Question Id : 5861808311 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafel@a med A, I) BFedr A &, 39 @FeT FT TTT
ST f2U 910 o o UITIaRT esg T el [ahedT oTal &l

R4

Options:
1. v AT
2. » g4

3. = grfel
4, «» dugq

Question Number : 183 Question Id : 5861808312 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FYoiied 7 §, IR [aaetl # €, 39 [dded & ad= &t A7 60 1T anag
< el T Tg! e T gll

aTe dTeet ATd v Uy grdr

Options:

1. * YT HiA TR




2. % GICTHT Yeehlol
3. * 31U YDl

4. v 33eq 7S
Hddlel

Question Number : 183 Question Id : 5861808312 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, a) Bedr # 8, 39 TFeT FT TTT =
S f&T 310 GIFT & hTel T Tal TheT BT

I FTeol 3T ar aur &dr

Options:

1. = U AASTFRTT

3. * 3TqUT HchTel
4. v gIgd Hq
H{cTehToT

Question Number : 184 Question Id : 5861808313 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Myleldd 7 ¥, IR Tddetl # ¥, 39 [ddheT & aa= & 511 Gg1 a1ad 9

BT [AdeT gl

T I STl AT FiTeh ST eIt oAT=T Tl

Options:

1. v TR aTar g
2. % GGh aATFd
3. = NUYCTD arad

4. = GhdaTdh AT




Question Number : 184 Question Id : 5861808313 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafe@a wed A, IR TFedr # &, 39 TFed FT TTT
ST TET aTFg AE T [ahed &l

sl ST SATAIT AT Fdifeh 38 Tsoll ollail 2T

Options:

1. v @ gy

2. = H-gci—d GIERS
3. » [oSuarass arey

4. % HehddTeh aTerd

Question Number : 185 Question Id : 5861808314 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Maleld 7 ¥, 9 Tadetl # ¥, 39 [ddheT & 9= & 511 9g1 a1ad 9

BT [AdeT Bl

TEATTUDT UG B [T DT § T LGl 3 |

Options:

1. » Y a1 g
2. * GGH aTFd
3. = MutETR® arag
4, v QT qIag

Question Number : 185 Question Id : 5861808314 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feaTfaad wed #, IR [hedl A &, 39 QFeT &7 IIT
ST Tar ardFg #e T [dhed &

AEIIURT TaTa & ToIT F&T H T Wr & |



Options:

1. = T8 gy

2. = H-’:-I:ci-d CIER?
3. » [oSeuaraess arey

4. v Il aATH

Question Number : 186 Question Id : 5861808315 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MEelied Uy #, IR daedl § 4, 39 Aded &7 adT & ST STl T e
PT Gord 3OT [AdpeT 2l

Options:

1. v 3mg
2. % ©T

3. # ATdel
4, = {IA

Question Number : 186 Question Id : 5861808315 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @T med A, I) Tedr A &, 39 TFed FT TTT
ST EAITeleT eeg, T TEH 3ToT [dhed &

Options:

1.#3—11?:[
2. = T
3. = TIdel

4. = HIOT

Question Number : 187 Question 1d : 5861808316 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



FETeTed Uy #, IR TAadeul # ¥, 39 [ddhed &T I & AT 14h €A &
ToTU STgera 9Iec, T Fd 3D [dhed gl

TTEqT gIe 0 g &t 32 7T T ot |

Options:

1. » QAT
2. v @l
3. = gd@r

4. » QAT

Question Number : 187 Question Id : 5861808316 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafel@a med A, I) BFedr A &, 39 @FeT FT TTT
T NaFd TUTT & fIv Sgaad e T G998 3ol [dFheq &l
a

IEAT Blot 9T ¥e] T 30 AT T AT |

Options:

1. » @RI
2. v grEm
3. = @Er

4. = giE=T

Question Number : 188 Question 1d : 5861808317 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyo@d vy 7, o Aeeu § 9, 39 Raew & g9 o s Rw 7y areg
& ToIT Ugr & A, BT JaX 30T [adheT 3l

AT Toha T 38T T¢I P G! 8l

Options:

1. v I



2. % THcadrendsd
3. % TEATHEdD

4. % IRTETIR

Question Number : 188 Question Id : 5861808317 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafe@a wed A, IR TFedr # &, 39 TFed FT TTT
St foU 710 gy & OT U8T & AT T 99 35T @oeq &l

AT TohcTell 37T ofcd T @l &

Options:

1. v GTdIEeTeh

2. % Tecadreaides

3. = 3eYTHCIITH
4. = ITSATH

Question Number : 189 Question Id : 5861808318 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FYTeied U &, IR [9detl # 9, 39 [adey &f ad= & AT &7 M7 arad
& ToIT gid & 9, T gad 30T [ddeT 2l

UG TGTS Y LT 3

1. = Gegre
2. v Fsaare
3. = Taegd
4. » Ghard

Question Number : 189 Question Id : 5861808318 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




AT E&d s A, TN AFeul # @, 39 TOFeT T I
St fU 910 g & Tow gicad & #AG &1 §od 3o dhed &

J&el TeIs Y I&T &

Options:

1. = gegrd
2. v Teregare
3. = Toegy
4. % Hehdrey

Question Number : 190 Question Id : 5861808319 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TgTellad U #, oR Tddeul § §, 39 feihed @7 o= HY ST hisa # &U
T SIEE, & T HEdW [T aqTadh GA-ATH T Ggl [adeT gl

Options:

1. » (JEeRT) GUAT Ueh T QI G

2. % (W) Tl ST THT, 3l

3. = (W) PeT Tl AT

4. v (W) ST deh MY de dep og dell Tl

Question Number : 190 Question Id : 5861808319 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT E&d weeT A, IX AFedl & @, 39 AFeT T I
a’raﬁwﬁ‘iﬁrmam?a@ﬂwmw ghsrqmchﬂéam
T Tar [ereT &

Options:

1. % (3T AUAT Teh Ea ERL &1aTT|
2. * (HF) ThoT STl I8 B

3. » (H) ar o FATSAMI




4. v (JH) Sl deh 3V T Tk Tg el 7T

Question Number : 191 Question Id : 5861808320 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Fgierad U ¥, IR [Aaeul § 9, 39 fadhed & o2+ o 1 1T T ggTer
T TET 37 ATeAT TIheT gl

WY
1.%aErQ‘cﬁtrﬁaT{
2. % ST gLl e
3. % g 9T § GHET GHET

4, v g Uh YTHT

Question Number : 191 Question Id : 5861808320 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @a mea A, I) TFedr A &, 39 TFeT FT TTT
ST fU 10 FgTey T TEr 37 arelr fasheq ¥

T Job & Te-Te

Options:

1. = OF Toh NN
2. = S G HLaT
3. * OF 91T H AT TTal

4. v d Teh HIHTA

Question Number : 192 Question Id : 5861808321 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fgieiad Uy ¥, IR [aaeul § 9, 39 fadbet & o1 o S 1U T ggTer
T T 37 ATelT ey gl

Options:
1. * ST g1

2. % S dlof th | T T

3. v F[OT &Zith dTe-TdeTe # g ST §
4, » YT I AT Agq

Question Number : 192 Question Id : 5861808321 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, I) TFedr # 8, 39 TFeT FT TTT =
ST feU arv Feral 1 d@er 37 arelm fawed &

o ¥ v 7 A

s y
1. = OI9TST Bledl

2. * B[S §lel & HET o qlell

3. v F[oT gl dre-faare # g’ Srdr &
4. » FaT I Slelall AT

Question Number : 193 Question Id : 5861808322 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgieiad U ¥, IR [Aweul § 9, 39 fadhet & o o S 10 1Y ggTer
T T 37 ATelT ey gl

T JUCL T TZgalX

Options:

1. v S&I Bl UL AT T 3MTEH g




2. % PAAT ¥ BT AT
3. % JUCIT & BT BIY T dTel]
4. % SN T IS G

Question Number : 193 Question Id : 5861808322 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafe@a wed H, IR Aedr # &, 39 TFed FT TTT

ﬁ%@?ﬁﬂﬁﬁi‘ﬁﬂﬁrﬁﬁmm FETRRY

gy 393eT Herel agc‘il

Options:

1. v GET T 39S ol SE<T 37T &
2. * P & FI FIaAT
3. * 3T Sol [ A Tlal aTell
4. « ORI KT 3USA Hefell

Question Number : 194 Question Id : 5861808323 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyfera vy §, oR Oeeu § ¥, 39 ey aragT e s &1 M8
ATlIThdl T Tga1 3 aTell [ddey gl

T SXET ST iy @I

Options:

1. * P B

2. % S F SATIST §IAT
3. v P (S84 W 9gradr <49

4., % ATIHTDHT PIH

Question Number : 194 Question Id : 5861808323 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT E&d s A, TN AFeul # @, 39 TOFeT T I
ST &I 318 SlehlTFcddl T Fal 37 dTell [dhed &l

FAT STET SIS cgﬁr Qfle'ITrT

Options:

1. » ShR B

2. % o1 & SIEr &k
3. v F1H I8 W Fgraar =9

4, = a'lH;I)Hﬁhd'l hTH

Question Number : 195 Question Id : 5861808324 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT U ¥, IR Tdhedl § ¥, 39 ey BT T e ST Idrdr g
Teraur AT TR & Tl Tohg Tig &1 IuANT Tt ST1aT 872

Options:

1. = TerEmeor

2. v Mes® g
3. = 3o T
4. = STerer

Question Number : 195 Question Id : 5861808324 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafel@a med A, I) BFedr A &, 39 @FeT FT TTT
ST §dTaT & Tor T9aeor a1 TUSEor & Tov T ”EeT &
3YET TRAT STaT §7

Options:

1. » TOEATOT
2. v Toicers Ea
3. = 3eT [{UH




4. = oEd

Sub-Section Number: 2
Sub-Section 1d: 586180556
Question Shuffling Allowed : Yes

Question Id : 5861808325 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

QQuestion Label : Comprehension

ST TEU T el hl eATYeleh UG 3 & M 7Y & I )

39T A SITETUT T UTch F SITETUT TSMerRT 3] |TH- 31 3=g1+ Tah i
T AT YT ThaT| TR ABeIr BT 3T § AT oI FTE]T HSel ! g & TT-
STADT B oI T IUTEAT TSTAT o1& W U QT Yehe Teh Tl el
3T J L IR [LATHT &7 3 1 & Teleg Aol STHIST U 31T T
SITET = FITEOT AT 315 & Mol § FZW ATel] Tg &l wsﬁﬁ&ﬁwa?r
18T 1S TS| o SITETUT Jereh F GIUST Pl B o= BT AR e ol Taderk
H T 3R Serdd Wl 3T §U A PO = TS37 I GHSAT I=giv gL &
SoTIH & gl , W4T, g 7 81 A 3S[T &f 31 AT § ARV & ATgT-Tg &
3T it GHA Ul TISe & Mol gl

Sub questions

Question Number : 196 Question Id : 5861808326 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T ¥ SITEUIT < Tich & 3MTT 3ITeRT T TehaT?

Options:

1. v Al U HLTHT o1

2. * STEUT oSl &_T
3. % SIY-TTRR AT
4. % SpT Uepe ThaT

Question Number : 197 Question Id : 5861808327 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

3T T SEU IR LT & &I UST?




Options:

1. # [T T T &7 & 1w

2. % ST&T-TYTT H &TYT TS b BT
3. v TST3AT & STk Dl o B & felq
4. » QT HSeAT & G I b 1T

Question Number : 198 Question Id : 5861808328 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TSI & & & T BT TAT?

Options:

1. * ASell @I STHIT UL T & PR
2. % dIX Aol &l 7 o7 & PHILOT
3. * 31T BT THA IR AT & & BT

4. v SIUET T ST Pl AATAT UZAT o BRI

Question Number : 199 Question Id : 5861808329 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

0 I DI - 9T Y BT AT T8l 82

Options:

1. = T&Mdra
2. v

3. % goTdel

4. = TG

Question Number : 200 Question Id : 5861808330 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 ATV, DI DS IUYh ATUh-
Options:

1. % SHeremer 3
2. v UTURT AN

3. % 3N o 3= =T
4, % 3 T ATYT-TE




Question Id : 5861808325 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension

s f&U IR ITETeT T AT Yash ¢ AT faU - 7o & 3o}
al

34T TAY STEAUT &1 dfFd & FEAUT RN 3ol ATH 37|
3cgiel U di¥ O d&T-TuTed RaT| d ADell T 1@ H
OTT| STEAUT HSoll 89 § SIT-SIhR Flal odil| T 3Aeed
T3t o oI&d Ag W AHT Tehe fhAT| T 375l o g@dr I
foremar sRmaT AR IR § o9 Ao AT W 3T PR uEr &
SEHOT LINT 375[el & el A WY ATell UgalT &l T3t A
&TeT T FgY &S M| I FEAUT gak F YAl T BN ol FHT
faa Yt oRT1 TaFaR # F0T AR Ferca o 3T gU o) Foor
o TSN A FASAT| 3ealad 9 & Fol1d & hal |, "§4r1, ar
o B & 3ol & &1 GoIr & aNonad & WA # gl jclja—c?r
AT giar 9isg §9 foehel gl

Sub questions

Question Number : 196 Question Id : 5861808326 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

a@aﬁmvﬁaﬁ‘rd%@mzmw FAT ThaT?

Options:

1. v Aol 9T TALTAT ST

2. % FIEHAUT T O
3. = SII-oTgh fohar
4. = 9TRT Wb ToRdT




Question Number : 197 Question Id : 5861808327 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

aﬁ_i?rr T EYT S ToIRITeT AT SeTer ysT?

Options:

1. = ToTeITaT TET o oldTa = hILOT

2. % SET-TYTT H STT USeT & HIOT
3. v I3l & oh I T Flal & ol
4. % FTEAUT HASO Q?Q%WE’IFTQ?WUT

Question Number : 198 Question Id : 5861808328 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T3 # &7 AT T ITAT?

1.« FHEE #T le W BRE F SR

2. % JIX AGeIl I o oldlel oh hOT

3. = 39ld T TR I T ofammal F FROT

4. v QIUEY T 3Slel T GLATAT Ugallal & HROT

Question Number : 199 Question Id : 5861808329 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SAH O hiel - GT &N 7 TITIA=IT T8l &7

Options:

1. = qedTdrgd
2. v 4T
3. % aeltlel

4. = TATholdl
o

Question Number : 200 Question Id : 5861808330 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SH 3e[oe, T I STPFA ATIh-

Options:




1. » TIYNT 375la
2. v ST 3T

3. = 31;1? T 3T IO
4. = 37oel T °IT&TT-I&




